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2.3 NSLPKOOOOOOO

O000D0O000000O000O000000ONSLPKODOOODOODOODODOONSLPK
OO0000000 1978 00 Needham O Schroeder D0 00000000 O0OOOOODO
OO000000000O0O0OONSPKOOODOOODOODODODOOOONSPKOOODOODO
O0Oo0oog1voog19 00 LoweDOOOODOOoOoooooooboobOonDO
O000000000000000O000000O0OO 3000000000000 Lowe
OO00000DO000000DogoONSLPKOODOODOOODOO

NSpPKOOOODOODODOOOOOODODOOOOOODOoODOoObOOobDOoboobobDoo
gboboboogobboooobboboogobooogon

Messagel. A— B @ {Na, s}k,
Message2. B — A : {Na,Nplk,
Message3. A— B : {Np,}k,

NSpPKOOOODOODO
OOooo0oboobooboooobobob cbobobooooo

e STEP1 OO A—}C:{NA,A}KC
OO0 AD0OD CO0O0ODO0OD0O0DO0OD0O0 ADOD COOODO MessagelOOODOODO

e STEP200 C — B: {N4 Alx,

Messagel OO DO DOOO0OO00O0OODO COOOODO MessagelOOODOOOO BODO
oboobooooo pOobOoOong

e STEP30O B — C(A): {N4, Ns}x,

Messagel 0O DO0ODOOO0OOO BOOOODOODODOOD ADODDOODOODODO
OO00o0ob0bO0oooobboUobo0ob0oobooboobDOooD ADDbOoboooo
OO0 cOO000o0o0obooboo0ob0 pOb0bO0bObDOD ADODDODOODODO
OO00o0o0o0o0ob00ob0 AUDOobOODbODbD pOb0O0OobObODObOOODbDOO CO
OOo0oob0obOOoboO0o ADODO0OO0OO0DOOobODOODOOOO0ODbDDOODODbDOODO
gooooogd

e STEPAO D C — A: {N4, Ng}x,

OO0 pO00000DOO0ODOO0ODOOOCO0ODDOOODOODOODOODO
OO0 A00D0OO0OOO



e STEP500 A — C: {Nplx,

00 Cc(B)000000O0O0000000ODO ADODODOOoOooOOooDOoUooooOo
MessagelUOD OO OOOOODOODOODOOOODOOODOODODODODOODOODODO
0000 A000O00OO0O0DOOO0ObDOo coOOobOobOOobOOobOobDOoobDoUOooo
OO00OccOob00ob0obooboooooooobobboobobboooooooDoo
0 AD Message3 OO0 Message2 00D 000000 DO0OO CcOOODOOOOO
OO00oboobbooboobooboo Ao cobUoooooooobDoboDo

e STEP6 00 C(A) —: {Nglx,

Message3 OO0 OO 0O0O0O0ODOOO COOO0 ADODODODOOODOOODOOODOOO
Oooo0o0 pOObooboobooboooobobooooboboooobobob pO0O0
gbbogoobbogbobooobbbooobbobooobobboobobog
OO00000D A0Q0OO0OO0D0O0oOoO

Lowe [ Message2 U O D ODODOODOODODODOODOOODOOODOODOOO

NSLPKOOOOOOOOOOODOOOOODOODOOODOODOOOoDOOobObODOooDoOoo
OO0000000 Otway-ReesUOODODOOODOODOOODOODOODODOOODOOOOODO
gboggbogobodgobobbobuogobbuoobboooboobbooboon
gbgbogboogbogooboooboooboooboobobobboonbn
gobobboogoboboooooboboooobbuooooobooon

NSLPKOODOODOOOOO Otway-ReesOODOODOODOOOOOOOOODOODODO
OO0000O0D0O00000000Db000000bO0D0bD0b0OOO0oDOODOgnNSLPK
OO0000o0obO0oobooooboooooooooobobDoo0 Ao Ka0ODOOODo
0000000000000 K;'oooooo

Messagel. A— B : {Na,la}r,
Message2. B — A : {Na,Np,Ip}k,
Message3. A— B : {Ng, }x,

NSLPKOODOODOOO

OO0 AD0OD pOODO0O0OO0ODOODOODODOO ADODO NAaODOODOODOO 14
000000 BOOOO0ODOO0OO0OO0O0O0OO0O0O {Na,I4}k, OO0 BOODODO (Messagel)

Messagel 000000 B00000000000 AKz'00000000 N,ODOO
o0 /0000000000000 b000b000b0000bo0obOo0obUono NgOO
OO000o0O0oboo0oboboOOo NyaOODOODOOD [g00000Db000b0 NgOOO ADDO
000000000000 {Na, N, Ig}xkAODOO AODDODODOQO (Message2)

Message2 000000 ADDOOODOOODO K;'00000200000 N,4O
NgOOOO /[pgO0000O0O00O0DOO0ODOOO0OOOO0ODO0ODObOO0ObDbOOOn
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000 B00D000DO0O0DODOOODOODOO NgDOOODODOODODOO Kz'O
oboooboooobooobooboboooooobbobbooobn NgODOO BOO
00 KpOOOOOOOOO {Ng}k,O0OO BOODOO (Message3)

Message3 D0 00000 BOOO0O0D0OO0O0DO0DO Kz'ODOODOOOO NgOODO
o000 A00O0O0bO0obO0ooooobobobobOoboooooooooboooboo
OO0 A0D0O0O0OO0O0ODOODOOO
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gbooboogd

gbgodggbobobogoboobbooboooboobbuooboooboan
gogdbogoooobobbobbbobobbboobooobouooooooon
gbobobbougobobodoooobobooogbbouoooobbobboooon

goododgbogbbobbobobbbbbbbbbbooooouoouoouoooaa
goobooood

3.2 000000 CafeOBJ

000000 CafeOBJO O OOOO (inital algebra) 000 0 O (hidden algebra) O O
O00000000000000 2,7000000000000000DOOOO00O0O00
0000000000000 0D000000000CafeOBJODOODOOOOOOOOO
O0000002000000000000000000000000A0 (visible sort) 00O
O00000000000000000 (hiddensort) 0000 OO0ODOOOOODODOODOO
0000000000000 00000000 (action operation) 0000000000
000000000000 (observatino operation) 0 2000000000

ddooobooooooooooooooobooooooonooooooooooad
goddoboooilogoooooooobooooooboooooooooooon
dododooooooooooooooooooooooooooooooooooon
dddodoobobooooogoo oo ooooooooooooon



Ooopooo- 0 ]000bogbobo0ooboboogooo =0l 0000000
O000000000000000D0D0 [soertt < sort2 ]O000ODODOOOOOOO
O0SortlCsort20 000 0000O0O0O0OODOO0OO0OOODODOOO0O0OOO vep’ 0000
goobogud’ep’ bl vep’,’ep’ U D ULOODOOOUOOOO 0000
gubobgoogobd->»gubobgbobogbuobooboooboboooogon
gbodbogbooguodbugbobbobuooudbdudid ’assoc’,’comm’ , ’idem’
UO000bodbobibd’eqrUOU00OO0DOODOOODOO0  ceq?UOUOOO  eq?
gogobogobgb=gbboogbo 20dibibd’ceqg oo
b =gggoobodieroougoooooggogo 2 ggooo

mCafeOBJOOOODOOOOOODOODOODOOO

module JOOOO0O{

0000000000000 D (0000000000000 0O000D00O0 signature
Uaxioms 200000000 0signature 00000 OO0O0OO0OOOOOOOOO
axioms U U U UOUOOO0ODOOO0O0OOO0OOODOO0O0OO0OooOO00ooooDn
gbggbboobogoogbobbobboobboobobooobboooan
guoddooooobobobbbbbbbbidddgudugdudygdy extending
gO0b0Dbo00odbbuddd protecting U UODODO

CafeOBJODODOODO CafeOBJOODODOOODOOCafeOBJOODODDOOODOOODOO
gboggbogobodobodgbuoobobbobbooobooobooboboon
gbodoggboogbooobbooobuoobobbooobobuoobobooboboa
goobooogbod
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4.1 0O0OO0O0OO0OOO

000000000000 0000000000000000 (Observational Transition
System) D000 [2,70000000000000O0O0O0OOOOOOOOOOOOO
0000000000000 000O00000000000ooooo00on

0000000000000 000000000000o00oYoOooooooooo
O00000000000aon

000000 SsSO0300(0,Z,7)00o00000ooOoOooOoOOoOoOoOoOooooo

e O:000DODO
OO000DoeODOO0O0OU0DODOOOO0OOODOOOOODODDDDOOOOOO:T —
poOOoOooOoOobooboooobon

e 7:000ODODOO
OO00000eeOUIDUODOODDOODOODODODODOZCYDODOO

e 7:00000DO0OCOODO

O0000-reT70000000000O000DODOOOOOOOrODDOOOOOO
OO000200000000000000000re70000000¢,:7T —
{true, false} 00000000 veYOOOOOT(v) DD 000000000
0000000000 -0000000000c00OODODDOODODODDODODOO
U0UUe, 000000000000 0O0O0OUOU

OOo0o0o0osooooobooobooooboooooobooobobOobobooo
gboggbooobodobobbubuoobbooboobouogbobooboon
O000000000000000000000 (fairness) 0000000000

OO00O00o0osOUbD0boboboouooobobobog veyvy,...0DO0D0O

e JOOU

O0vwO000000000ec0OUvweZOOOO

e OO0
0000i€{0,1,2,.}00000v4, =s7(v;)0000re7000000

11



e OO0
Ore70000v=s7(v;)0000:€{0,1,2,..}000000000

OOooOsSOOooobobobooobooboob Socgoobobobobooooo

4.2 00O

O000000SO0000000000000 (safety property) 00O O (liveness property)
O00000O0bO000o0o0oooooooooosSobooobooooooosoooon
000000000000 0000o0ooDOooDoDooobOobOooOoboobooosooon
O00000veYOOOOOp(v)DOOOD0O0OO000Op000p: Y — {true, false}O

SO000p000D0DOOO0ODODOODODOODDODOOOOODDODOODODOODOOO
gooooooooooon

e 1010
veZ00000000000vOO0OO0OOOp(v)yDODOODOO

e JOUOOODO

plo) 000000000000 0CO»OOODODOODOOOOOOOreTOOOO
p(r(v)) 000000

4.3 CafeOBJOUOOOOOOOODOOMO

D000YO HOODOOOOOOOOOO+[H]«0000000000000000
00000 Vi(k=14y,..,i,) 000 VOOOOOO Dy(k=iy,....5,,) 000 DOOOO
00000000000000000

O0O0000SO000 o4,..., €00 CateOBJOODODOOOOOOOOOO oODOO
gobobouooggoboooaooo

bopo: HV, ..V, >V

e

ooob/bobooobobooooooobooooboobobobooboboobonbog
oboooboooboobooboobduo mtO0O0O0O0DLO0ODOO0

opnit : => H

000 VO CafeOBJ OO0 Xu(k = iy,....i,) 000000 o
f(i1,..,i,)0000000000000O000

L, €000000

eq O(init,Xil,...,Xi ) = f(X“,,XZ ) .

12



gobooood
Oo0o0oO00 sSo000n0 .., e 7TOCCateOBJOOOOOOOOOOODODOOO
gobobouogoobooooobobod

bopa: H V..V, ->H

0O0WDOOOO HO CafeOBJOODODOOO0O0 WODOOOOOOOOOODOOOO
000000 «W,X,,...X;,)00000ea(W,X,,,..X;,,X,,,..,X;,) 0000000
00000000000000000.00000000000000000 CafeOBJ
0000O0ca(W,Xj,,...X,;,)0000000000e¢, , 00000 CafeOBJODD
000

0000000000000000000 7,
00000000000000

Y

.....

.....

ceq ola(W, X, ... X5 ) Xipy ooy X))
=€ — G(W, XJ‘“ "'Xjanilv ...,Xim)

if C—G(W,le,...,X]‘n).
oo ouooooooooooooogo

ceq G(W,le,...,X]‘n)
=X if not c—a(W, X;,,..., X;,) .

gbobobooobbobbooogobobogoboood

eq O(G(W,le,...,X]‘n),Xil,...,XZ’ )
= O(S,XZ' .,XZ' ) .

19°°

gooboooboo

4.4 0OO0O0OO

OOo0bo0oosUbbdpbbbobOoOoOoSOODOODOODOODOODOODLO
pUl0O0O0OOL0OOO0ObOO0O0UbLbUOO0OobooobbooobLbooobobobo
gbouogooboubgdgobobbpibbodbboobboobuoobboonobog
gbgbogboogbogoboobobobbooooobooooboooboon
gooo

4.4.1 0O00O0O0OO0O0O0OOO

OO00000000000000D00DO CafeOBJODOODOODOOOOODOOODOO
O0)p(k=1,..,n)000000000D0 INNODOODOOOOOOODODOODOO p,O0O

13



O

N I

goboboogboboooaod

opp1 : OSys SortX; -> Bool

op pn : Sys SortX, -> Bool
eq pl(w,Xl) = Pl(W,Xl) .

eq pa(W,X,) = Po(W,X,) .

OO sysUOO0ODO0OOOOSertX, U pUdnbbbooooooboboonboog
OO00000D00D000000wODODO sysO CafeOBJODODOODOOX, 0000
SortX; O CafeOBJOOODUODOOOeqUDUOOOODOOOD opO0OD0OODOOODODO
gobouooogboogbobbog nwibD sertX, U0 ODOOOODOOOOODOOO
gooboogoobod

gbobbooobboboogoobobbouogbobbouooobbobood

op 1stepy : SortX; -> Bool

op 1istep, : SortX, -> Bool
eq istepi(X1) = pi(s,X;) implies pi(s’,X1) .

eq istep,(X,) = pu(s,X,) implies p, (s’,X%,) .

sgbogobodbbdbibs’bgdsbggbogobogoboobbonobog

O

00000 0eqU OO0 cpgdgobbbbboboouooooon

dmplies U UO0O0OOO0OOOOO0OO0DOOU

4.

O

4.2 O0O0OO0O0O0O

gbogobodgbobobboogbogbuooooboobooboogbooboon
gooboggboboooan

open INV
red p;(inti,x;)

close

cpen U 00O0OOO0O0O0OOOOOOUOOODOODLDOOODLOOODLDOODDOOLOOODn
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00 CafeOBJOOODOO0O0O0Oclose1000000000000000000000
D000red0000000000000000000000000O0O0O0OOOO0 (O
000)0

000000000 CafeOBJOOOOO0 «0000000000000000000
0000000000000000000000000(0000)0000000000
00000000000000

open ISTEP
oo0odoooooooooo .
ooooooooooo .
O0odooooooooooooaoao .
eq s’ = a(s,...)
red istep,(X,)

close

gbodogdbetogbboggbboggbboobbbogbobuooboboonobog
gbboggbobugobbouobbbodbobbuubibibdeqgbbogbboogog
U0 s'000sO00000000DL0OO0 cU00L0ODOO0O00oobobbOooon
gbobobbougdbobiododibredbbogoobooogn
000000000000000 (00000 tuve)000000O0OODODODODODOO
gbggbogogbbobbuoobobbuoobbuogbboodbooboooboon
goodogbobobbbobboboboboboboboooooouoouogaga

goo
gbobobooobbbuoooobbobooonog

e HUUUOUOLODUOOOODLDDOUOOUODLDDO

- Dooogon
goboboboooggoobood

— gogoooo
gbbogbbuogbbuoobbogbboobbuogbbouoobooboog
gobobbouogogbbooogoooon
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050 Otway-ReesU U0 00O

Otway-ReesO0 OO0 0000198700 D.Otwayd O.Rees OO O D ODOOODOODODOODO
0000000000000 0000 pBo000000D0O000o0ooo SsSooooo
OO000000o00oo0oooooooooooooooooooooooooogon
OAO0O0OBOODOOODOOD -O0O00OO0O0OOSODOODOODOO
0000000000000 00DO0o000D00O000oDOoooooDOonD 200
O0000000000XO0YOOOOOOOO KyyOOOOOOOOOOOOOOO
{..}ky, 00 0000000000000 XOYOOOOOOOOOOOoOooOOo
Otway-Rees 0000000000000 O0ODOODODOODOODOOODOODOOOOOOO
O00000000000000000 10000 100000000000000 (nonce)
OO000000d0ooO0db0OoOOdooOOoooOoooooooooooooooooooogon
0000000000000 000000oooooooooooOo (bo)yoooooo
O00000OOtway-Rees 000 O0D00O0ODODOODOOODOOODOODOO
000000000000 0000000000D000D000000Otway-ReesO O
O00000000DOO00D0O0S00000000D000

A—=B: N o Ip,{N,Na,Ia,Ip}K,s

B—S: N IgIg AN, NayIu, Itk oo AN, N, 14, IB} K s
S—B: N{Nao, Kap}ti,o,{NB, Kap}Kps

B—A: N {Na, Kapltr,.

A+ B: {anything recognizable} ,

AN

O0 Otway-Rees OO OO OOOOOODOODOODODO

o STEP1
Messagel A— B: N, I4,Ig,{N,Na,I4,I5}K,<

OO0BOOOOOOODOOOODOO ADOODDOOOOOODODOODOOOODOO
ooboooooooobo2000000 vNyOOooooooo NOOooooo
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OO0O0oobooU0ooobboooboob0 yzOOOoAODOBOODODODOODO
OOo0ooOoO0oboooOooooooo SboboooooooboboooboobDoboo
OO000D00DAODOOBOOOOOOO ,O0z000000

O0A02000000200000000AQ000000D00 KuysOOODOO
00000000 NOOODO I,0/000000000BO0O0O0O0O (Messagel)O

OO00o0o0o0obo0oboobouo NgaO0O0AODODOODODOODOODOODO
goboboogbobbooooobobooobobboooooooon

e STEP2

MGSSCLQGQ B — S: N,[A,[B,{N,NA,[A,[B}KAS,{N,NB,[A,[B}KBS

Messagel OO O0OO0OD0 BOODOD AODOOOOODODDOOODOODOODOODOO N
O0000000 Messagael 000 0ODO0D0O0O0O0ODOOOOOO NOOOO 1,40
[z 00000000 NgOOOOOOO BOOOOOOOOO KgsOOOooOooOnQ
0000000000 Messagel 000000000000 (Message2)O

e STEP3

Message3 S = B: N,{NA,[(AB}KAS,{NB,[(AB}KBS

Message2 D0 OO ODOODO SO 2000000000000000000D0O NO
000 0020000000000 NODOO 400000000000
OO000o00O0U00o0ob0oboobooboobDOobboOoboOobD ACOD BOODOO
gbobobobooggb2bobgodgooboooboooooobbobogod
goboboogbboboooobobboogobobooooooon

OO0O00o0o0o0o0oO0oo0ooobob0 A0DOBOOOODOODOODDOODO
OO00000AQD0O0ODOOODOO NyaODOOODOOUODO KysOODOOODDOO
BOODODOODOO NgOODOOODOOODO KegsOOOOOowO

200000000000000NOOO0O0DODOBOOOOO (Message3)O

o STEP4

Messaged B — A: N,{Na, Kap}tx,s
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Message3 0O DO ODOODO BOOOODOOOODOOO NODOODOODODO Message2 [
OOOo0 NODOOoDbOoooobobooboobooboobbob KesOO
obhobooooboboboboooboboboo NpOboboobobobooo
gboboboogbobbooooobobogobobod

OO0 BOOMessage3 00000 {...}k,. 000000000 AO0OOCOO (Mes-
saged)O

STEP5
Messageb A < B: {anything recognizable} .,

Messaged DO OO OODO AODDOODOOODOODOOO NDODODOOODOODOO N
oboobooboboboboobobobobobobboboboo NMyO0bOoobon
gboboogboboogbobogobbboobbuoooobbuooooboa
gooo

OO0O00o0o0oboobooboooobooobD AoooBOOOODODOOOODOO
goo
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60 Otway-ReesU U0 0O OMOO
o0

6.1 U0OUOUOoOOOooOOooooonn

gbogobogobobgoogbobbobbuoobboooboobbooboon
guoodooooooobobbobobbbbobbbuoouooodououooooon
OO000000D0000O0D0D0O0OD00O Otway-ReesDODOODODOODOOODOODOODO
gboboboogobboogobboboogobooogon

e JUUOOOOOOO

Otway-Rees 0000000000 OO0OODOODOODODOODOOODOODODODOO
gbogo3buodbugbuguogbugbobbobbobobooobodgog
gbobbooobbooobobboobbbooobbooobbboobobobo
gboboboogbbobbodgoobbobooobobbuooooboboboooooon
gbgobobooooboboobobboobuoobuooboboobooobon
gbbuogoobbogoobuoooobboobbuoooobbuooooboog
gbobbooobbogobobogbobbboobbbooobooooobooa
gbobboogboogbbobooobbobbooooobobobod

e JUOOOOOO

OO000000000000b00O00bO0oobooobbooobDgiOtway-ReesOD
gboboboogoobbouoo20dbboboggoobbboooooboboobood
gbbuogoobobogbobuooobbboobbuoooobbuooooboa
goboboogbobooood

e JOOOOO

gbbuogooboogoobuoooobbooobbooobbuooooboog
gbobboooggbbobooobobboooobbouoobboooonoobog
gobobboogboboboogoobobbouogobbouooobobood

e JOOOOOOOO

gbboogooboogoboboggbbbooobbobooobbbooboboa
gboobooobbboooobbouooggobobooooooon
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e JUUODOOOOOO

gbobbooobbboobobuoooobboooobooooboboonobooo
gbobbooobbboobobbooobbuooobbooobobboobboba
gbooogboogbouogbgbbouoobboobboobboobooboa
gbbuogooboogoobuoooobbooobbooobbuoooobooo
gbbogoobbogboboobobbboogbbobooobobboonobog
gboboboooboboobobbouogbbobooobbbooooboobod
gboboboobobogobobuogbobbboobbbooobboooooboog
goobogooobod

e JOOOOO

gbobobogooboogbobogobbbooobbobooobbbooboboa
gbbuogoobbdogbbooobobbooobbuoooobboooobobog
gboogobobogobobogbobbbooobbboooboooooboog
gbooboggbobooooooon

— uggogboboogbobooooooboo

- 00000000000 0o0oOoOoOoOoOoOoOoOoOoO(OOooOoOooOoOoooO
gbbogbbuogbbuoobbuogbboobbuogbbuooboobog
gboboboboooggom

— booogbbobboogbboboooooboboobood
- ugoobobboogbbooooooo

gobobbooboggbboooobobbooobbbouooobooooooog
gbobbooobboooobboobbboobbobooobbooooboa
gobobouogbobooooobobbod

6.2 UOUOUOOOOOOOOOOO0ONO

Otway-Rees U0 DD 0DO0O0O0DOO0DOOO0OO0OODOOODOOODO CateOBJOO
gooboood
O00O0O0 PRINCIPALODOOODODOOOODOD (signatured 0000000000

[Principall

op intruder : -> Principal

op _=_ : Principal Principal -> Bool {comm}
var P : Principal

eq (P =P) = true .
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Principal U0 U00O0O0O0OO00O000O0O0OiIntruder 00 0O0O0OOOOOOOONO
goboboooobobbboodggdibseclddbbbbobbooooobobbooon
U=00000000000b000b00d0bbddbtdecommd =0000000
OO00000D000000000DO0D0b0O0PODODONO Principall CafeOBJO
gbobobobbugoobobobooobobbod

UO000SERVERO U UOUOOOODOU

[Server]

op ca : => Server

op intruder : -> Server

op _=_ : Server Server -> Bool {comm}
var S : Server

eq (8 =8) = true .

Server U UUDOUOOODDODUOO0ODDOOca 0D DOOOODDODDOOOLODOOOO
00D 0O00intruder D000 0O0O0OO0O0O0OOOOO0O0OODOO0O0OODODOOOO
gbougobouogobuogoboguobbobuobooobuoobobooboa
gbggbboobogobogobbuoobooboobobbooboooboon
goo

0000 MVALUENVALUED 20000000000000000000000004
UO0O00OMvalueNvalue U O U OO OUOOOOOOOOOOOO

[Mvalue]

op _=_ : Mvalue Mvalue -> Bool {comm}
var MV : Mvalue

eq (MV = MV) = true .

[Nvalue]

op _=_ : Nvalue Nvalue -> Bool {comm}
var NV : Nvalue

eq (NV = NV) = true .

OO0O000 MNONCE,NONCEL 20000000 ODOO0O0O0O0ODO200000000
gbggbbobobogobogogbobobbooobo20ogobooobodan
gbogobgdogbogbmonced D0 goooooobooobboooooobooboon
gbobobooggobbogdgyonced oo goobboooobobboogon
gobobobodgggodroncedgggnooboboooooooboboooooon
gobbbuggogbobooooobbooooooboboooooboboboooaon
200ggboboboooooboooan
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[Mnonce]
op mnonce : Principal Principal Mvalue -> Mnonce
op creator : Mnonce -> Principal

op reciver : Mnonce -> Principal

op mv : Mnonce -> Mvalue

op _=_ : Mnonce Mnonce -> Bool {Bool}
[Nonce]

op monce : Principal Principal Nvalue -> Nonce

op creator : Nonce -> Principal
op reciver : Nonce -> Principal
op Vv : Nonce -> Nvalue

op _=_ : Nonce Nonce -> Bool {Bool}

Mnonce Nonce O OO OOOOOOODOODOOOOOODNDOO mnonce,noncel] 0[O
O00000000000000000000 creatord 00 00000O0O0ODOOO20
OO0 reciver U0 OUO0OU0O0O0O0OOOODOODOOODOOOOOO0O0O0OO3000
O0nvvOOOOODOOOOOOOOOOO0O0O0OO0O0ONO creator,reciverd 0000
Jo000obboooobooobbobboobooob0ooobooboboobDoooon
0000000000000 000000DO000000D0000 mnonce(p,q,mv) OO
Op000qU00000000000O0O0OO0OO0ODODODDODODDODODOODODODOODOny
Oo0o0Dbo0oooboooon

O0000OPUBKEYD D ODODOUODDODODODODOODODODOODDOOODDOOODbObOOoooooo
Pubkey O DO OOOODODOOOOOO

[Pubkey]

op _=_ : Pubkey Pubkey -> Bool {comm}
var PK : Pubkey

eq (PK = PK) = true .

UO000KEYSKEYOD OO UOOOoooooooooooooooboDOokeEYd OO
gobobooooobbbooooogobskgydooboooogoooooooon
gobobooggbbooooobobod

[Key]

op key : Principal Principal Pubkey -> Key
ops prl pr2 : Key -> Principal

op pk : Key -> Pubkey

op _=_ : Key Key -> Bool {comm}
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[Skey]

op skey : Principal -> Skey

op pr0O : Skey -> Principal

op _=_ : Skey Skey -> Bool {comm}

KeySkeyUODOOOOODOOOODOOODOOD keyOUDODDOODODODOODODODO
OOo0ob0oO0oob0oobobooob0obO0obobOoobobDOobOUobObOoUobDOobOOo
OO00000000DO00O00DO0DO00b000O0bOg skeyOOOOOoOooogoo
Oodo0o0o0oobOoobooobooboboboboobooobooobooooooooobooboooDo
OOo00obOob0ooboooooobOob0obobobooooobooboboboo

OO000O0O0 CIPHERL O Messagel OO0 Message2 D0 DD DODOO0OOODOO0O

[Cipher1]

op encl : Skey Mnonce Nonce Principal Principal -> Cipherl
op skey : Cipherl -> Skey

op mnonce : Cipherl -> Mnonce

op nonce : Cipherl -> Nonce

ops p q : Cipherl -> Principal

op _=_ : Cipherl Cipherl -> Bool {comm}

Cipher1[] MessaglUOMessage2 10D 0000000000 D0OOOODOOOOO0O enct
ooboooooboobooobobuobobobobooooboboboboboboobo
000200000000000000000((000O)0000000O02000000
oboobobooboobobooosgbobobooooboboboobobooobonog
obooobooboboo4boosbboobooboobDoobobo20b000D00
000000000 {N,Na,Ia,Ip}tk,., 0000 NOOwOODOO N,OOnDOO AB
00 p,q0 000000 enci(sk(p),m,n,p,q) 0000000

O00O0O00 CIPHER2[ Message3 0 00 Messaged DO OO O0OOOOOOOO

[Cipher2]

op enc2 : Skey Nonce Key -> Cipher2
op skey : Cipher2 -> Skey

op key : Cipher2 -> Mnonce

op nonce : Cipher2 -> Nonce

op _=_ : Cipher2 Cipher2 -> Bool {comm}

Cipher2[] Messag30Messaged D0 DD UOOO0O0DOOOOOOOOOOOOONO enc2
ooboooooboobooobobuobobobobooooboboboboboboobo
00020003000000000000000(ODOO0)0000O0O0O0ODO20000
gbobuogobbooobbooobbbooobooobbuoob3bboooboan
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O0000000000000000000 {Na,Kuplk,.0000 N,OOnOOO AB
O00000 p,q0 000000 enc2(sk(p),n,k(p q))O0O0O0O0DOO0O
Ooo0ooMseOOO0OODOoOODOoOooooUooUoo400000000

[(Msg]

op ml : Principal Principal Principal Mnonce Principal Principal Cipherl -> Msg

op m2 : Principal Principal Server Mnonce Principal Principal
Cipherl Cipherl -> Msg

op m3 : Server Server Principal Mnonce Cipher2  Cipher2 -> Msg

op m4 : Principal Principal Principal Mnonce Cipher2 -> Msg

ops ml1? m27 m37 m47? : Msg -> Bool

ops creatorl senderl reciverl idl i1d2 : Msg -> Principal

ops creator2 sender2 reciver2 : Msg -> Server

op mnonce : Msg -> Mnonce

ops cil ci2a ci2b : Msg -> Cipherl

ops ci3a ci3b ci4 : Msg -> Cipher2

op _=_ : Msg Msg -> Bool {comm}

MsgUOODUOUOOoooooooooobobobibid mi,m2,m3,méa0 0000000
OO000 Messagel 00 Messaged U DO DODOODOOOOOOO400000000O00
goboboogbboboogob2b00ggoobbboooobooooobooosn
gbbouoggbbooobooobbuooo40bbboooboooboooboan
gbggbboobogogbobbobboogbboooboobbooboooboon
gboggboooobuogbbouogboboobuobuoobboooboobbooboon
gbogbodgobodbooobbuoobooobobbodbooobooboon
gobooo

O00 mi7,m27,m3?,m4?0 000000000000 0O00O0O0O0O0O0O Messagel OO
Messaged U0 O OOOO0ODOO0ODOO0ODOODOODOODOODOODOODOO
goo

gbOb00dEQRIVO UL 300000OUO0O00bLODbOOoboDODOn

gbobogobbdgdsacbbbogbboooobouoobbdoogbl b - TRIV
gooo

[E1t.D < Bagl

op void : -> Bag

op _,_ : Bag Bag -> Bag {assoc comm id: void}
op _\in_ : E1t.D Bag -> Bool
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Bag U UOUOODOUOUOOUOOUOOOoUouououuooouoouoooooobobobon
UBglUDUUOUOUOUOUOOOoooooobobobbbbbbobbbbbboooon
gobbbougggbobooooobboooooboboboooooboboboooan
gobobbobO00dEm.pU0d0dod g ooooognon
goboobooboddbiEeEls.DU0000O000 BaghUUoogoooooooon
UvoeidUOD0ODUOOOOOOOOODODODOOO_ , 0J000ooobobobboooooog
assoc 0 UUO0O0ODOOOO0OOOOOILd: voeidUOUD voidUUDODOOOODODO
0000000 _,000000000000000M\in 00000000000 OO0O
goboboogoboboooon

goodoooogboserTgbgoooououoouoooooono D = TRIVO
goo

[E1t.D < Set]

op empty : -> Set

op __ : Set Set -> Set {assoc comm idem id: empty}
op _\in_ : E1t.D Set -> Bool

setUU0OO0OUOO0O0O0OOUOO0OODOO0O0ODsetDOOO0OLOOOO0bOooogn
gboggbogobodbuoobouogbogboobboobobuobbdEs.odd
gbOddsetdbogobgbbugbbogbbooboboboubbod Ers.p0
Oobob0b0b00set 00000 OO0OO0O0O0O0O0O0O0OD0D empty OO0 ognon
I € = T T
0000000000000 00\in 000000000000 00DOOOOO0O00
gobooo

OO0O000 coLLECTIONU O DD DOUOugoooooboogoobobnd Db« TRIV
gooo

[E1t.D < Col]
op _\in_ : E1t.D col -> Bool

colugububouogoobbbooooboooog

O000NETWORKU OO D UOOoooboogooobogobbooooboboogn
gboggbboobodoogbougboooboobboouooobbooooan
guddoodoooooooooboboobobbbooooboooooooon
gbobouogbooogboouogbboogbooogobboboooogboogboogoda
gbouodgbdgobogobogobuogobboobobogubuooboboooboog
gogbooobobobbobibdgddddguoddododouooouoobo
gboboobbogbbdbbBAacU coLLECTIONU O D OUOOODODOOOOOObDOOOOn
goobooboboobobobodd->pbobobubobdgugoooooonoonn
goo
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pr (BAG(MSG) *{sort Bag -> Network})

pr (COLLECTION(MNONCE)*{sort Col -> ColMnonce})
pr (COLLECTION(NONCE) *{sort Col -> ColNoncel})
pr (COLLECTION(CIPHER1) *{sort Col -> ColCii})
pr (COLLECTION(CIPHER2) *{sort Col -> ColCi2})
pr (COLLECTION(KEY)*{sort Col -> ColKey})

gbobobooobbboogobobod

op cnonce : Network -> ColNonce
op ccil : Network -> ColCil
op cci2a : Network -> ColCil
op cci2b : Network -> ColCil
op cci3a : Network -> ColCi2
op cci3b : Network -> ColCi2
op ccid : Network -> ColCi2
op ckey : Network -> ColKey

000 cnonced (0 6.1))0000000000000O000O0O0O0OOOODOODOO
Jodoooboooobobooooooobooooooooooooooooooooon
Oo00o0ooooo203040s06070 0 0000000000000 O0000O00O0O00O
Jdodoobooooooodddooooboooooooooooooboooooon
Jdodoobodooooooooooooooooooboooobooooooooon
0oodoodoooooooooooon

000 ccil0D(062)00000000000000000 MessagelOOODOODOO
Jdododdoooboboooooooooboooooooooooooboooooon
O00D00200000000000000 Messagel 0OOOOOODODOOOOOOO
Jdodoobooooooooooooobooooooooooooooooooon
ddodooooooboooooooooooboobooooooboooooooooon
OO0 Messagel OO DOODODO0D0O0O0OODODOO0ODOODOOOOOOOOOODOOO

000 cci2a,cci2b,ccila,ccidb,cci4a 00 0O0OOOOOOOOOOOOOOOO
0oodoodoooooooooooon

000 ckeyD (0 63)000000000000000000O0O0O0OOODODOODOO
gdoooooooddooooooooooooobooboboooooooooon
O00D000002030400000000000000 Message300O 2000000
J000000b0000oob0o0o0bDbb0o0o0bD00o0o0ogd MessagedDO OO
Jdodooboooobooooddooooboooobboooooooooooooon
dodoooboooboboooooooooooooobooooooooboooooon
ooooooooon
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—— cnonce

eq N \in cnonce(void) = (creator(N) = intruder) .
ceq N \in cnonce(M,NW) = true

if m1?(M) and prO(skey(cil(M))) = intruder .
ceq N \in cnonce(M,NW) = true

if m27(M) and prO(skey(ci2a(M))) = intruder .
ceq N \in cnonce(M,NW) = true

if m27(M) and prO(skey(ci2b(M))) = intruder .
ceq N \in cnonce(M,NW) = true

if m37(M) and prO(skey(ci3a(M))) = intruder .
ceq N \in cnonce(M,NW) = true

if m37(M) and prO0(skey(ci3b(M))) = intruder .

ceq N \in cnonce(M,NW) = true
if m4?(M) and prO(skey(ci4(M))) = intruder .
ceq N \in cnonce(M,NW) = N \in cnonce(NW)
if not(m1?(M) and prO(skey(cil(M))) = intruder) and
not(m2?7(M) and pro0(skey(ci2a(M)))
not(m2?7(M) and pro0(skey(ci2b(M)))
not (m37(M) and pro0(skey(ci3a(M)))
not (m37(M) and pro0(skey(ci3b(M))) intruder) and
not(m4? (M) and prO0(skey(ci4(M))) = intruder)

intruder) and

intruder) and

intruder) and

e.ibboogoobbboobobbboogoooon
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-- ccil
eq E1 \in ccil(void) = false .
ceq E1 \in ccil(M,NW) = true
if m1?7(M) and not(prO(skey(cii(M))) = intruder) and cil(M) = E1
ceq E1 \in ccil(M,NW) = E1 \in cci1(NW)
if not(m1?(M) and not(prO0(skey(cili(M))) = intruder) and cil(M) = E1)
-- cci2a
eq E21 \in cci2a(void) = false .
ceq E21 \in cci2a(M,NW) = true
if m2?7(M) and not(prO0(skey(ci2a(M))) = intruder) and ci2a(M) = E21
ceq E21 \in cci2a(M,NW) = E21 \in cci2a(NW)
if not(m2?(M) and not(prO(skey(ci2a(M))) = intruder) and ci2a(M) = E21)
-- cci2b
eq E22 \in cci2b(void) = false .
ceq E22 \in cci2b(M,NW) = true
if m2?7(M) and not(prO0(skey(ci2b(M))) = intruder) and ci2b(M) = E22
ceq E22 \in cci2b(M,NW) = E22 \in cci2b(NW)
if not(m2?(M) and not(prO0(skey(ci2b(M))) = intruder) and ci2b(M) = E22)
-- cci3a
eq E31 \in cci3a(void) = false .
ceq E31 \in cci3a(M,NW) = true
if m37(M) and not(prO0(skey(ci3a(M))) = intruder) and ci3a(M) = E31
ceq E31 \in cci3a(M,NW) = E31 \in cci3a(NW)
if not(m3?(M) and not(prO0(skey(ci3a(M))) = intruder) and ci3a(M) = E31)
-- ¢cci3b
eq E32 \in cci3b(void) = false .
ceq E32 \in cci3b(M,NW) = true
if m37(M) and not(pr0(skey(ci3b(M))) = intruder) and ci3b(M) = E32 .
ceq E32 \in cci3b(M,NW) = E32 \in cci3b(NW)
if not(m37?(M) and not(pr0(skey(ci3b(M))) = intruder) and ci3b(M) = E32)
-- cci4d
eq E4 \in cci4(void) = false .
ceq E4 \in cci4(M,NW) = true
if m4?(M) and not(prO0(skey(ci4(M))) = intruder) and ci4(M) = E4 .
ceq E4 \in cci4(M,NW) = E4 \in cci4(NW)
if not(m4?(M) and not(prO0(skey(ci4(M))) = intruder) and ci4(M) = E4)

e20bb0dodbobbboobobbboogoooon
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--ckey U00OUO0O0O0O0O0OOODOOODOOOOO
eq K \in ckey(void) = false .
ceq K \in ckey(M,NW) = true

if m37(M) and prO(skey(ci3a(M))) = intruder
and key(ci3a(M)) = K .
ceq K \in ckey(M,NW) = true
if m37(M) and prO(skey(ci3b(M))) = intruder

and key(ci3b(M)) = K .
ceq K \in ckey(M,NW) = true
if m4?(M) and prO(skey(ci4(M))) = intruder
and key(ci4(M)) = K .
ceq K \in ckey(M,NW) = K \in ckey (NW)
if not(m37(M) and prO(skey(ci3a(M))) = intruder
and key(ci3a(M)) = K) and
not(m37(M) and pr0(skey(ci3b(M))) = intruder
and key(ci3b(M)) = K) and
not(m4?(M) and prO0(skey(ci4(M))) = intruder
and key(ci4(M)) = K)

esbbbuougdobbboobobbbogoooon
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6.3 Otway-ReesOUOUO0O0OO0OOO0OO

Otway-Rees Protocol 0O DO O0OO0 400000 160000000000000O00O0

OTWAY-REE
goodd

SET (MVALU
SET (NVALU
SET (PUBKE

Umvalue
oooond
oooond

*[System]
-- any in

op 1init :

-- observ
bop uv :
bop um :
bop nw :

bop sk :

-- action
-- sendin

bop mesl

bop mes2 :
bop mes3 :
bop mes4 :

-- faking

-- for me

bop fkml1l :
bop fkml2 :

-- for me

bop fkm21 :
bop fkm22 :
bop fkm23 :
bop fkm24 :

sgbbuggbbuoogobooobbobooobooobooseTdi
goboooogd

E)*{sort Set -> Umvalue}
E)*{sort Set -> Uvalue}
Y)*{sort Set -> Sharekey}

,Uvalue,Sharekey U DU DOUODOOOUOOOO0OOOOOOODOODOOOOO
OO000000000000000Db0O000bDb000D0Otway-ReesOOOO
goboooood

*
itial state

-> System

ation operations
System -> Uvalue
System -> Umvalue
System -> Network
System -> Sharekey

operations

g messges

: System Principal Principal Mvalue Nvalue -> System
System Principal Nvalue Msg -> System

System Msg Pubkey -> System

System Principal Msg Msg Msg -> System

messages
ssagel

System Principal Principal Mnonce Cipherl -> System

System Principal Principal Mnonce Nonce Skey -> System

ssage?2

System Principal Principal Mnonce Cipherl Cipherl -> System
System Principal Principal Mnonce Cipherl Nonce Skey -> System
System Principal Principal Mnonce Cipherl Nonce Skey -> System

System Principal Principal Mnonce Nonce Nonce Skey Skey -> System
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-- for message3

bop fkm31 : System Principal Principal Mnonce Cipher2 Cipher2 -> System

bop fkm32 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> System
bop fkm33 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> System
bop fkm34 : System Principal Principal Mnonce Nonce Nonce Skey Skey Key -> System
-- for message4d

bop fkm4l : System Principal Principal Mnonce Cipher2 -> System

bop fkm42 : System Principal Principal Mnonce Nonce Skey Key -> System

OO0000systemO 0000 YOOOOOODOODOO init000O00ODOODODOO
gobooo

0000 wiOOOOOooooobooooooboboooobobooobobobooo
J0000000wOD0OOO0OO0OD0ODODO0O0OO0D0ODO0O0O0OO0DO0O0O0O0OODODOOO0
J00D0o0000b0b0o00D w000 0O0O0DO0O0O0O0O0DDO0O0O0O0DODbOO0O0O0
J000000b0b0b0o0o0ob0bOb000 skO00O0DOO00o0oooDoooooobooon
0000000000000 w,um,skOOOOO init 00000000 emptyd O
O000D w0000 init 00000000 veidOODODOOO

0000 mesimes2mes3mes41 0000000000 Messagel O Messaged 00 [
J000000D0000nooooDOd fkm1l,fkm120 0000 Messagel OO OO0
O000000000000 fkm21,fkm22,fkm23,fkm24 0 0 0 0 0 Message2 0 0 0 0O
J0000000000000 £km31,fkm32,fkm33,fkm34 [0 0 0 0 0 Message3 0 0 0O 0O
O00000000000000 fkmé4l,fkmd20 0000 Messaged D OO0 0OO0DO OO0
ooooog

O000Omes1 0 200000000000000O0O000000O00O0OOOOS300O0O
0000000000000 0000000(@ 64)40000000000000O0OO
J00000os00oboog20b0bb000boooooboboooboboooboboon
oo0o0o0o0oooboboooon

O000Omes20 3000000020000000000000DOO0O00000O0O
J000o0oobooooobboooo4bbo0oobo20000bbooooboboon
O000000000000000000(O 6.4)

O000Omes30 2000000000000DO0DO0O0O0OODODODDODODOOOOOS30O
O000000000000000000000000(0O 6.5)

O0O0O0Omes4 0 30405 0000000000000 0O0OO Messagelll Message2Q
Message3 0O ODOOODOO(D 65 000000000000000000O0OO0OOO0O
O0e6100 640000000000

0000 fxm1 00000000000 OOO0O0O00000000O0{...}Jk,. 000
OO0O000O00bO0Ob00b00bUuo0obOi0D Messagel DDOODOOODOOOOODO
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o000 fkmi20 0000000000000 0OO00O0OOO0OOO NyOOOODOO
K, OUOOUOOOOOOOODOOOO00O0ODO0ODDb0OD0OO MessagelDDOOODOODO
goobooo

0000 fkm21 0000000000000 00000000000 {...}x,0{...}xps
OO0O00D00boboboobDoob0obobbOoDOonoD Message2O0DOOOOOOODOO
goo

0000 fkm22000000000000000O00O0OCOOOO0OOA...}x,, 0000
NgODOUOOOO KgsOODODOODOODODOOODOODOODOODOOOO Message2
gobooooggooood

0000 fkm2300000000000000000000000O0A{...}k,.0000
N,OOODOOO KusUDOOOOoobOoobooboobooboOonbDOO Message2
gobooooggooood

D000 fkm240 00000000000 0O0OO0O0OOOOOOO0O NoAONgODOO
OO0 KusOKpsOODODOOOOODOOODODOOOODODOOOODODOOO Message2
gboboboogooood

O000fkm31000000000000000000000000 {...}x,0{...}xps
OO0O00D00bobobooboob0ob0bDbOobDOn0D Message3UDODOOQOOoOOOOO
goo

0000 fkm32000000000000000D0ODOOOOOO0OOA...}x,.000
ONgOOODODOO KaysOKypOOOoOoOoooOoooOoobooboooboooobo
Message3 U OO ODOODOOODOOO

0000 fkm3300000000000000000000O00O0O0OA{...}k,c,000
ONJOODOOD KysOKypOOoOoooooobooobooboobooooboobo
Message3 U OO ODOODOOODOOO

D000 fkm340 00000000000 OO0OOOOO0OO0O0OO NoaONgODODOO
OO0 KasOKpsUOKypOUODOODODOOODOODOOOOODOODOOOOODOODO Message3
gobooooggooood

0000 fxm41 000000000 0OODOOO0O0O000000O00O0{...}Jk,.O00O
OO0O000O00b0ob00b0o0bUuoobOi0D MessagedODOODOOOOOOOODO

o000 fkmé2000000000O0O00OO00OO0OOO0OOOOOOO NqOOOODOO
KasUKapUDOOOODOODOODOOOODODOODOODOODOO0ODOO MessagedOOD OO
goooood
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O 6.1: Messagel UODOOODOOODOOOO

Ooo0O |booboob NNgDOOOD

Oo0o0D |b00bwObOoobooooo NgOODo
OO0 wmdOO0DOOO0OOOONDOODO
O00000 nwl Messagel DO 0O OO0

0 6.2: Message2 U0 DO OODOOODOOOO

Oo0Oo0 (DobboobbO NgODOO

O O0000000 Messagel DD OODO
oooobo20b000000000000
o000 |00b00wiOOOOoOooobo NgDOOO
000000 nwl Message2 0O OO0

0 6.3: Message3 U0 DO OODOOODOOOO

o000 |0D0b00o0ob00 Kapoonod

H O0000000 Message2U DO OODO

goobooogd

OoOOo0obOobobOobb KysOboooobooboobo
O0Oo0bOo0obOo0b KgsOOODOODOODOODOO
oboobooboobo ND20000D00O0D0OONDOODO
O0O00D000D0O0D Ix,/zp020000000000 14,/g00000

D000 |0000skO000O000OD00O0O KapOOd
O00000 nwl Message3 DO DO OO
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O 6.4: Messaged U0 DO OODOOODOOOO

gooo

ooooooo NNy OD0O0O0
O0000000 Messagel DO OODO
gobobb200000000004000n
O0000000 Message2U DO OODO
gobbboogoob 20bbodogoboooan
goobooogd
O0Oo0bOo0obOo0b KgsOOODOODOODOODOO
0000 {.}x,, 00000 NOOOOOODOOOOO NOOOOO
0000 {..}k,, 00000 I4,[pg00000000000 I4,/p00000
O0O000OO0bDOo0O NO Messagel DOOOO NOODOOO
O0000000 Message3UDO O OO
gboboboogoobood
gobobb200000000004000n
O0Oo0bOo0obOo0b KgsOOODOODOODOODOO
OO0O000OO0bDOo0O0O NO Message20OOOO NOODOOO
0000 {..}k,. 00000 NgO Message2 00 OO 0000 NgOOOOO

gooo

O00D000 nwl Messaged OO0 OO
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-- for mesl
op c-mesl : System Principal Principal Mvalue Nvalue -) Bool
eq c-mes1(S,P,Q,MV,V1) = not(MV \in um(S)) and not(V1 \in uv(S))
ceq uv(mes1(S,P,Q,MV,V1)) V1 uv(S) if c-mes1(S,P,Q,MV,V1)
ceq um(mes1(S,P,Q,MV,V1)) MV um(S) if c-mes1(S,P,Q,MV,V1)
ceq nw(mes1(S,P,Q,MV,V1))
= m1(P,P,Q,mnonce(P,Q,MV),P,Q,
encl(skey(P) ,mnonce(P,Q,MV) ,nonce(P,Q,V1),P,Q)) , nw(S)
if c-mes1(S,P,Q,MV,V1) .
eq sk(mes1(S,P,Q,MV,V1)) = sk(S)
ceq mes1(S,P,Q,MV,V1) = S if not c-mes1(S,P,Q,MV,V1)

-- for mes2
op c-mes2 : System Principal Nvalue Msg -) Bool
eq c-mes2(S,Q,V2,M1) = M1 \in nw(S) and m1?7(M1) and
reciver1(M1) = Q and not(V2 \in uv(S))
eq um(mes2(S,Q,V2,M1)) = um(S)
ceq uv(mes2(S,Q,V2,M1)) = V2 uv(S) if c-mes2(S,Q,V2,M1)
ceq nw(mes2(S,Q,V2,M1))
= m2(Q,Q,ca,mnonce(M1),id1(M1),Q,ci1(M1),

encl(skey(Q) ,mnonce(M1) ,nonce(Q,id1(M1),V2),id1(M1),id2(M1))) , nw(S)

if c-mes2(S,Q,V2,M1)
eq sk(mes2(S,Q,V2,M1)) = sk(S)
ceq mes2(S,Q,V2,M1) = S if not c-mes2(S,Q,V2,M1)

0 6.40 Otway-ReesUO O DO ODODOODOODO Messagelll Message2 DO OO OODOO
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-- for mes3
op c-mes3 : System Msg Pubkey -) Bool
eq c-mes3(S,M2,PK) = M2 \in nw(S) and m27(M2) and reciver2(M2) = ca and
pro(skey(ci2a(M2))) = id1(M2) and
pro(skey(ci2b(M2))) = id2(M2) and
mnonce(M2) = mnonce(ci2a(M2)) and
mnonce(M2) = mnonce(ci2b(M2)) and
mnonce(ci2a(M2)) = mnonce(ci2b(M2)) and
p(ci2a(M2)) = id1(M2) and q(ci2a(M2))
p(ci2b(M2)) = id1(M2) and q(ci2b(M2))
not(PK \in sk(S))
eq um(mes3(S,M2,PK)) = um(S)
eq uv(mes3(S,M2,PK)) = uv(S)
ceq nw(mes3(S,M2,PK))
= m3(reciver2(M2) ,reciver2(M2) ,senderi1(M2) ,mnonce(M2),
enc2(skey(id1(M2)) ,nonce(ci2a(M2)) ,key(id1(M2),id2(M2),PK)),
enc2(skey(id2(M2)) ,nonce(ci2b(M2)) ,key(id1(M2),id2(M2) ,PK))) , nw(S)
if c-mes3(S,M2,PK)
ceq sk(mes3(S,M2,PK)) = PK sk(S) if c-mes3(S,M2,PK)
ceq mes3(S,M2,PK) = S if not c-mes3(S,M2,PK)

id2(M2) and
id2(M2) and

-- for mes4

op c-mes4 : System Principal Msg Msg Msg -) Bool

eq c-mes4(S,Q,M1,M2,M3) = M1 \in nw(S) and m1?7(M1) and
M2 \in nw(S) and m27(M2) and
M3 \in nw(S) and m37(M3) and
reciveri(M1) = Q and senderi1(M2) = Q and
reciver2(M2) = ca and prO(skey(ci2b(M2))) = Q and
mnonce(M1) = mnonce(M2) and
mnonce(M2) = mnonce(ci2b(M2)) and
id2(M2) = Q and p(ci2b(M2)) = id1(M2) and
q(ci2b(M2)) = 1d2(M2) and sender2(M3) = ca and
reciver1(M3) = Q and prO(skey(ci3b(M3))) = Q and
mnonce(M3) = mnonce(M2) and
nonce(ci3b(M3)) = nonce(ci2b(M2))

eq um(mes4(S,Q,M1,M2,M3)) = um(S)

eq uv(mes4(S,Q,M1,M2,M3)) = uv(S)

ceq nw(mes4(S,Q,M1,M2,M3))

= m4(Q,Q,sender1(M1) ,mnonce(M3),ci3a(M3)) , nw(S)
if c-mes4(S,Q,M1,M2,M3)
eq sk(mes4(S,Q,M1,M2,M3)) = sk(S)
ceq mes4(S,Q,M1,M2,M3) = S if not c-mes4(S,Q,M1,M2,M3)

0 6.50 Otway-ReesUO O D ODODOODOODO Message3l Messaged DD OO OO OO
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-- for action fkmil
op c—fkmll : System Principal Principal Mnonce Cipherl -> Bool
eq c-fkm11(S,P,Q,MN,E11) = E11 \in ccil(nw(8))
eq uv(fkm11(S,P,Q,MN,E11)) = uv(S)
ceq nw(fkm11(S,P,Q,MN,E11)) = ml(intruder,P,Q,MN,P,Q,E11) , nw(S)
if c-fkmi1(S,P,Q,HN,E11)
eq sk(fkm11(S,P,Q,MN,E11)) = sk(S)
ceq fkm11(S,P,Q,MN,E11) = § if not c-fkmi1(S,P,Q,MN,E11)
-- for action fkmil?2
op ¢c—fkml2 : System Principal Principal Mnonce Nonce Skey -> Bool
eq c-fkm12(S,P,Q,MN,N1,K1) = N1 \in cnonce(nw(S)) and prO(K1) = intruder
eq uv(fkm12(S,P,Q,MN,01,K1)) = uv(S)
ceq nw(fkm12(8,P,Q,MN,N1,K1)) = mi(intruder,P,Q,MN,P,Q,enc1(K1,MN,N1,P,Q)) , nw(S)
if c-fkm12(S,P,Q,HN,N1,K1)
eq sk(fkm12(S,P,Q,MN,01,K1)) = sk(S)
ceq fkm12(S,P,Q,HN,N1,K1) = § if not(c-fkm12(S,P,Q,HN,N1,K1))

-- for action fkm21
op c—fkm21 : System Principal Principal Mnonce Cipherl Cipherl -> Bool
eq c-fkm21(S,P,Q,MN,E11,E12) = E11 \in cci2a(nw(8)) and E12 \in cci2b(nw(8))
eq uv(fkm21(S,P,Q,MN,E11,E12)) = uv(S)
ceq nw(fkm21(S,P,Q,MN,E11,E12)) = m2(intruder,P,ca,MN,P,Q,E11,E12) , nw(S)
if c-fkm21(S,P,Q,MN,E11,E12)
eq sk(fkm21(S,P,Q,MN,E11,E12)) = sk(S)
ceq fkm21(S,P,Q,HN,E11,E12) = § if not c-fkm21(S,P,q,HN,E11,E12)
-- for action fkm22
op ¢c—-fkm22 : System Principal Principal Mnonce Cipherl Nonce Skey -> Bool
eq c-fkm22(S,P,Q,MN,E11,N2,K2) = E11 \in cci2a(nw(8)) and
02 \in cnonce(nw(8)) and prO(K2) = intruder
eq uv(fkm22(S,P,Q,MN,E11,02,K2)) = uv(S)
ceq nw(fkm22(8,P,Q,MN,E11,02,K2)) = m2(intruder,Q,ca,Mll,P,Q,E11,encl (K2, ,MN,H2,P,Q)) , nw(S)
if c-fkm22(S,P,Q,MN,E11,02,K2)
eq sk(fkm22(S,P,Q,MN,E11,02,K2)) = sk(S)
ceq fkm22(S,P,Q,MN,E11,02,K2) = S if not c-fkm22(S,P,Q,MN,E11,N2,K2)
-- for action fkm23
op ¢c—fkm23 : System Principal Principal Mnonce Cipherl Nonce Skey -> Bool
eq c-fkm23(S,P,Q,MN,E12,N1,K1) = E12 \in cci2b(nw(8)) and N1 \in cnonce(nw(S)) and
pro(K1) = intruder
eq uv(fkm23(S,P,Q,MN,E12,01,K1)) = uv(S)
ceq nw(fkm23(S,P,Q,MN,E12,N1,K1)) = m2(intruder,Q,ca,MN,P,Q,enc1 (K1, ,MN,N1,P,Q) ,E12) , nw(S)
if c-fkm23(S,P,Q,MN,E12,01,K1)
eq sk(fkm23(S,P,Q,MN,E12,01,K1)) = sk(S)
ceq fkm23(S,P,Q,MN,E12,01,K1) = S if not c-fkm23(S,P,Q,MN,E12,N1,K1)
-- for action fkm24
op c-fkm24 : System Principal Principal Mnonce Nonce Nonce Skey Skey -> Bool
eq c-fkm24(S,P,Q,MN,N1,N2,K1,K2) = W1 \in cnonce(nw(S)) and N2 \in cnonce(nw(S)) and
prO(K1) = intruder and prO(K2) = intruder
eq uv(fkm24(S,P,Q,MN, 01,02, ,K1,K2)) = uv(S)
ceq nw(fkm24(S,P,Q,MN,N1,02,K1,K2)) = m2(intruder,Q,ca,MN,P,q,
enc1l(K1,MN,H1,P,Q),encl1(K2,MN,N2,P,Q)) , nw(S)
if c-fkm24(S,P,Q,MN,N1,02,K1,K2)
eq sk(fkm24(S,P,Q,MI,N1,N2,K1,K2)) = sk(§)
ceq fkm24(S,P,Q,HN,N1,02,K1,K2) = S if not c-fkm24(S,P,Q,MN,N1,H2,K1,K2)

O6.600000 Messagell Message2 0 0 OO0 OO0

37




-- for action fkm31
op ¢c-fkm31 : System Principal Principal Mnonce Cipher2 Cipher2 -> Bool
eq c-fkm31(S,P,Q,MN,E21,E22) = E21 \in cci3a(nw(8)) and E22 \in cci3b(nw(8))
eq uv(fkm31(S,P,Q,MN,E21,E22)) = uv(S)
ceq nw(fkm31(S,P,Q,MN,E21,E22)) = m3(intruder,ca,P,MN,E21,E22) , nw(S)
if c-fkm31(S,P,Q,MHN,E21,E22)
eq sk(fkm31(S,P,Q,MN,E21,E22)) = sk(S)
ceq fkm31(S,P,Q,MN,E21,E22) = § if not c-fkm31(S,P,Q,MN,E21,E22)

-- for action fkm32

op ¢c—fkm32 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> Bool

eq c-fkm32(S,P,Q,MN,E21,N2,K2,K) = E21 \in cci3a(nw(8)) and N2 \in cnonce(nw(S)) and
prO(K2) = intruder and K \in ckey(nw(8))

eq uv(fkm32(S,P,Q,MN,E21,02,K2,K)) = uv(S)

ceq nw(fkm32(S,P,Q,MN,E21,02,K2,K)) = m3(intruder,ca,Q,ll,E21,enc2(kK2,02,K)) , nw(S)

if c-fkm32(S,P,Q,MN,E21,02,K2,K)
eq sk(fkm32(S,P,Q,MN,E21,H2,K2,K)) = sk(S)
ceq fkm32(S,P,Q,MN,E21,N2,K2,K) = S if not c-fkm32(S,P,Q,MN,E21,02,K2,K)

-- for action fkm33

op ¢c—fkm33 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> Bool

eq c-fkm33(S,P,Q,MN,E22,N1,K1,K) = E22 \in cci3b(nw(8)) and N1 \in cnonce(nw(S)) and
prO(K1) = intruder and K \in ckey(nw(8))

eq uv(fkm33(S,P,Q,MN,E22, 01 ,K1,K)) = uv(S)

ceq nw(fkm33(S,P,Q,MN,E22,01,K1,K)) = m3(intruder,ca,q,MN,enc2(K1,01,K) ,E22) , nw(S)

if c-fkm33(S,P,Q,MN,E22,H1,K1,K)
eq sk(fkm33(S,P,Q,MN,E22,01,K1,K)) = sk(S)
ceq fkm33(S,P,Q,MN,E22,N1,K1,K) = S if not c-fkm33(S,P,Q,MN,E22,N1,K1,K)

-- for action fkm34
op ¢c-fkm34 : System Principal Principal Mnonce Nonce Nonce Skey Skey Key -> Bool
eq c-fkm34(S,P,Q,MN,N1,N2,K1,K2,K) = N1 \in cnonce(nw(S)) and N2 \in cnonce(nw(S)) and
pro(K1) = intruder and
prO(K2) = intruder and K \in ckey(nw(8))
eq uv(fkm34(S,P,Q,MN,N1,02,K1,K2,K)) = uv(S)
ceq nw(fkm34(S,P,Q,MN,H1,02,K1,K2,K)) = m3(intruder,ca,q,Ml,enc2(K1,01,K) ,enc2(K2,02,K)) , nw(S)
if c-fkm34(S,P,Q,MN,N1,H2,K1,K2,K)
eq sk(fkm34(S,P,Q,MN,N1,N2,K1,K2,K)) = sk(S)
ceq fkm34(S,P,Q,MN,N1,02,K1,K2,K) = § if not c-fkm34(S,P,Q,MN,N1,H2,K1,K2,K)

-- for actin fkm41
op c—fkm41l : System Principal Principal Mnonce Cipher2 -> Bool
eq c-fkm41(S,P,Q,MN,E21) = E21 \in cci4(nw(8))
eq uv(fkm41(S,P,Q,MN,E21)) = uv(S)
ceq nw(fkm41(S,P,Q,MN,E21)) = m4(intruder,Q,P,MN,E21) ,nw(S)
if c-fkm41(S,P,Q,MI,E21)
eq sk(fkm41(S,P,Q,MN,E21)) = sk(S)
ceq fkm41(S,P,Q,MN,E21) = § if not c-fkm41(S,P,Q,MN,E21)

-- for actino fkm4?2
op c—fkm42 : System Principal Principal Mnonce Nonce Skey Key -> Bool
eq c-fkm42(S,P,Q,MN,01,K1,K) = N1 \in cnonce(nw(8)) and prO(K1) = intruder and K \in ckey(nw(S))
eq uv(fkm42(S,P,Q,MN,01,K1,K)) = uv(S)
ceq nw(fkm42(S,P,Q,MN, 1 ,K1,K)) = m4(intruder,Q,P,MN,enc2(K1,01,K)) , nw(S)
if c-fkm42(S,P,Q,NN,N1,K1,K)
eq sk(fkm42(S,P,Q,HN,N1,K1,K)) = sk(S)
ceq fkm42(S,P,Q,MN,U1,K1,K) = S if not c-fkm42(S,P,qQ,MN,N1,K1,K)

O6.700000 Message3[ Messaged D OO OO OO0
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64 UUO0OUOOOOOOO

gogobobbuogbooooobooobooboboboooboooboobod
gboouboggbogobogbbooboobboobboobboboobobog
gboboboboogobbodooobobooooboboooooboboobood

6.4.1 2000000000000000

Otway-Rees 000000000 200000000000020000000000
gboggbooobobobbogbobuogbbbuogbboobooboooboon
oo2000000 NO NgJONgOOGOOOODODOODODOODOODOODOONDO
gboggbbobobogobogoobuoobobooobooobbooobboooan
obooboooobobobbooobo NMqONgODOOUODbOobobooooboboo
obooobooobooboobobobobobDbobbobobo NOODbOooboobo
OoOobobooobobobooooob NMyNgpOh oo oboboooboooboo
gbouogobouogobougo20b0bogoboobboobbobboonoboog
goo

6.4.2 U0OUOO2000000000

gbogobogbobobboogbogbuooobboobooboogbooboon
gbggbogbogbogbbobbuoobbbuoobboogboobbooboon
gbggbodgobodboobougboobooobbodbooobooboon
gbggbboobogobogobooboboboboobboobboooboon
gbggbodgbogboooboobbobuoobobboobbooboooboon
gbodgbobobbuoobbouogboboobboobooboboooboooboon
gbobobooggbbuooooboboboogobooogon

6.4.3 000O0OOOOOOOOONOOODOOO

UO0OD00ONETWORKU DD DDDODOUOOOooubooboobooboooooooonon
oooobo NDOOODbOoOobooboobooboobooobuoobooboobo
Ooooboobooboobooo NODbOD KWupbhooOobbobbooooobo
gbobobooooboboooobbobboogoobooooonoon
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644 0O00O0O0O0O0OO0O0OOOONA,ONgODODDOO

OO0O0OONETWORKO OO ODOOOOOOOOODOO NaONgOOOOOOoooog
gbobobooggbobooooobobboooogo

m1?(M) and prO(skey(cil(M))) = intruder and nonce(cii(M)) = N

gboobodgoboggobougbboobuoobboogboobbooboon
gbgtoggboobuogbouogoobbobbuoobboooboobbooboon
OO000D00D0D00O CafeOBJODOUODODODOODODODOOODODODOODOODODO
gboobooogod

nonce(cit(M)) = N

gobobooggd

6.4.5 UUOUOOOOOOOOUOOOOUOOOLOOODLDOO

gbogbuodgboogboogbbooobbobobbooooobobobboboan
gbggbogobodobobbuobooobooboboooobbooboon
gooboogd

goobooboobobbbbboddgdgdddodoouoooooooon
gobobbogdbogboooboobbobbuoobboooboobbooboon
gbogbogobodobougbobooobbuoobboooboobbooboon
gbggbogobouodgboobboobooobobbodbooobooboon
gooboogd

gbgobguobobboudgbooobbobbuoobooobuoobbooboaon
gooboooggno

e HUUUUOODLDOOOOODLDDODO

e JI000D00ODOUDODUDOODUODUDODOUODUODODODODLO
O0O00O00boobDO 2000 Message2l Message3 0 0 OO

e U0 200000000DO0OUO

e U0 I0OLDDOUOOOODLDLDDOUOOODDLDODODUOOUODLDbOUOOODLDbLDbDOOO
gooooogd

e U0 2000000000LOUOO0OLODLDOOUOOODLODLOUOOOUODLDOD

gbobobooobbobtbooooob44bboooobbuoooobobbog

40



6.4.6 UUOOOOOOOOOOOOOO

idbbuobooobbooobooobooobboobobboobbooon
gboobooggboooan

000000 eq (nonce(PS1,PD1,V1) = nonce(PS2,PD2,V2))
= (PS1 = PS2 and PD1 = PD2 and V1 = V2)
000000 eq (key(P1,P2,PK1) = key(P3,P4,PK2))
= (P1 = P3 and P2 = P4 and PK1 = PK2)

(PS1,PD1,V1,PS2,PD2,v20 CafeOBJ O O)
gboogobogbobobboogbogobbobbooboobbouogbooboon
goobooogoo

mnonce(M2) = mnonce(ci2a(M2))
K \in ckey(nw(S))

OO00DbO0o0O0o0DbO00OO0ooobobobouoboobOoDO pst,ppt,viO 00O CafeOBJ
gbggbboobogobogoboobobbooooobobooboooboon
gboobooogbooooooon

O00000 eq (W1 = N2) = (creator(N1) = creator(N2) and
reciver (N1) = reciver(N2) and v(N1) = v(N2)) .
O00000 eq (K1 = K2)
= (pr1(K1) = pr1(K2) and pr2(K1i) = pr2(K2) and pk(K1) = pk(K2)) .

(N1,N2,K1,K20 CafeOBJ O O)
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070 Otway-ReesU U0 OO 00O
O

71 0O0Oogooon

Otway-Rees U0 000D 0O0DOODOO0O0OOOODOOODODOODDOO CafeOBJODOO
OO000D00D000O0CafeOBJOODODODOOODOODODODOO

b gobobbooobbooooobbuooobobbooobbobooobbboon
gobobouogboboooaooo

Ooobooboobooboobooooobobobbobon KyqgObobob g
A0DpO0OO00OO0ODODOO0OOODOODOUODODUOOOODOOObODODOD ADBDOODO
K,pOUOOOoobOoobOooooboobooo

obhoboobooboobooobooobobbOo Kggoobooboobbobb g
gbggogbogbbobbuoobobuogbbobbooboogbobooboon
goboboogobbooooboboooooboooobobboooan

gbobbooobobooooboboon

OO0 0.00000000s : SysOO0O0O0O0Ok : KeyOOGQOOOO
k \in ckey(nw(s)) implies (pri1(k) = intruder or pr2(k) = intruder)
dmplies 00000000 O0D0OODO or 0000000 OOODO

OO00000D0000Otway-ReesOO0OD0O0ODOODOODO sOOD0ODOODODODOO
OO00000000 ckey(mw(S))ODODOODOOOODODOkOODOODODODODODODO
O000000000000000000 pr1ix)J pr2k) 000000 intruderd O
goo

7.2 OO

gol1boobooobobobobdogooooooououguooooooan
gboouboggbodgobogobuoboodbooobbonouogoboooboog
goo
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U0 1. Jddduodiids « sysUUODODOOO e31 @ Cipher2000 000

e31 \in cci3a(nw(s)) implies not(prO0(skey(e31)) = intruder)

U0 2. 00000 s « sysOUODODOOO e32 @ Cipher2000 000
e32 \in cci3b(nw(s)) implies not(pr0(skey(e32)) = intruder)

U0 3. 00dddubiids « sysUUODOOOO e4 @ Cipher2000 000

e4 \in cci4(nw(s)) implies not(prO(skey(e4)) = intruder)

gbolgbo3gggbogbboobouogboouogboboobboobuoobbog
gbggbogobobobboobobuobobbuogbboodbooboooboon
goboboogobboooobooboooooboooobobboooan

7.3 0O0Ooognon

44000000000 boooooboooobboooboboboooboboboan
giwwiboogboogooD izwgodoobogg1oboogbobod inviood O
gbobobooogboboooobobbboooogn

op inv040 : System Cipher2 -> Bool

op inv050 : System Cipher2 -> Bool

op inv060 : System Cipher2 -> Bool

op inv100 : System Key -> Bool

eq inv040(S,E31) = (E31 \in cci3a(nw(S)) implies not(prO(skey(E31)) = intruder)) .
eq inv050(S,E32) = (E32 \in cci3b(nw(S)) implies not(prO(skey(E32)) = intruder)) .
eq inv060(S,E4) = (E4 \in cci4(nw(S)) implies not(prO(skey(E4)) = intruder)) .

eq inv100(S,K) = (K \in ckey(nw(S)) implies (pri1(K) = intruder or pr2(X) = intruder)) .

OO0 sO000 Systemd CafeOBJOODOODOOKOOODO KeyO CafeOBJO OO

goo
gooobod Istrerpdddnoogboogboodnn isteptoo oo
gobobouggobooogooo

op istep040 : Cipher2 -> Bool

op istep050 : Cipher2 -> Bool

op istep060 : Cipher2 -> Bool

op istepl100 : Key -> Bool

eq istep040(E31) = inv040(s,E31) implies inv040(s’,E31) .
eq istepO050(E32) = inv050(s,E32) implies inv050(s’,E32) .
eq istep060(E4) = inv060(s,E4) implies inv060(s’,E4) .

eq istepl00(X) = inv100(s,K) implies inv100(s’,K) .

bddsdbbgdbbds’d sbuoggboggbooboboobooobogad
gobobobbds,s’dbbooogogoon
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ops 8 8’ : => Bool

gbogbogobogobogoboobboobouooobool1booboon
gbboogobbguogogbbogoob inviooogonooooooobogn

gbogbobobougooboboboognbg

open INV
red inv100(init,k) .
close

oodooooooboooooooboooooobbooooooobooooooa
Oo0oooobooooooooo g sgoooooooooboooooooonon
0000000 mesilmes20 fkm110 fkm120 fkm21 0 fkm22[] fkm23 fkm34 0 0 0 0O O
Messagel 00 Message2 0000000000 0O0O0OOO0OODOOODOO0OOOOOO
Ooodoodoooooobooooooooo2000o00oonon

O71:0000mes30 00000000000 0OOO0OOODOODOO0O

c-med3(s,mes10,pk10)) | not(k = key(idl(mes10),id2(mes10),pk10))

k = key(idl(mes10),id2(mes10) ,pk10 | id1(mes10) = intruder)

not(id1(mes10) = intruder)) | id2(mes10) = intruder

not(id2(mes10) = intruder)

ot Au‘w‘»—

not c-mes3(s,mes10,pk10))

O72.0000mes40 00000000000 OOO0DOOODOODOO0O

c-mes4(s,ql0,mes10,mes20,mes30) | not(k = key(ci3a(mes30)))

k = key(ci3al(mes30))

prO(skey(ci3a(mes30))) = intruder

not (prO(skey(ci3a(mes30))) = intruder)

= w‘w‘»—

not c-mes4(sql0,mes10,mes20,mes30)

O73: 0000fkm310 0000000000000 00O00O00O0O0O0O0O

c-fkm31(s,p10,q10,m10,e10,e20)) | prO(skey(el0)) = intruder

=~ w‘w‘»—

not (prO(skey(e10)) = intruder) | prO(skey(e20)) = intruder

not (prO(skey(e20)) = intruder)

not c-fkm31(s,p10,q10,m10,e10,e20))
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c-ftkm32(s,p10,q10,m10,e10,n20,k20,k30)) | k = k30
not(k = k30) | not(prO(skey(e10)) = intruder)
prO(skey(e20)) = intruder

O74:. 0000 fkm3200000000000000000000000O
1
2

w

N

not c¢-fkm3(s,p10,q10,m10,e10,n20,k20,k30))

c-ftkm33(s,p10,q10,m10,e20,n10,k10,k30)) | k = k30
not(k = k30) | not(prO(skey(e20)) = intruder)
prO(skey(e20)) = intruder

O 75 0000 fkm3300000000000000000O000O0O00O0O0O
1
2

w

N

not ¢-fkm33(s,p10,q10,m10,e20,n10,k20,k10))

O 760000 tkm3400000000OO0OOOOOOOO0O0O0O0O0O0O
[ 1 [ c-fkm34(s,p10,910,m10,n10,n20,k10,k20,k30)) | k = k30

2 not(k = k30)
3 | not c¢-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30))

O 7.7: DDDDfkm41DDDDDDDDDDDDDDDDDDDDDDD
c-fkm41(s,p10,q10,m10,e10)) | not(prO(skey(el0)) = intruder)
prO(skey(e10)) = intruder

not c-fkm41(s,p10,q10,m10,e10))

ww‘

O78: 0000 fkmd20 0000000000000 0O0O0O000OO0OO
1 | ¢c-fkm42(s,p10,q10,m10,n10,k10,k30)) | k = k30
2] not(k = k30)
3 | not c-fkm42(s,p10,q10,m10,n10,k10,k30))

7.3.1 0000 fkm33

000000 100000 fxm330 0000000000000 00000000O0
o000

000000000000 0000 s000000oo0ooood pto, gtodoog N
O00000mi0o0000000D0O0O000D0O0000 e200000000000000
OO0n100000000000000O0Ok10,00000000000DO0ODOODO0O k30
0000000000 £km33(s,p10,q10,m10,e20,n10,k20,k30) 0000000

0000000000oODoooDoooOoOoooOoOy,s,00000d00o0oooooon
O000g7s0000000D0O0DO0DOOODOOODOOOOODOOODOOODOOO0O0O0
0000000000000 and0 0000000 DOOO0OO0OODODOOOO0O 20

c-fkm33(s,p10,910,m10,e20,n10,k10,k30)

and not(k = k30) and not(pr0(skey(e20)) = intruder)

0000000000 00000000mm
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gbggbuogoboggbogbbuogbboooobboobuoobboonoog
gboboboogboboogobbobbodggbbob sbdd sboggoboogon
gboogboddbibred0bdbugboooboobogboooboobogon
gobobodbtrvedggboogooboogobbbogbbbbooobbboon

gooo

o1

gol1ooboobobooodogddd kdddk3odnoonoooogoogd

OO0 truel
oogd

open ISTEP

00000000000 (0O0)000o0 10000000 oooooooo

-- arbitrary objects

ops pl0 q10 :

-> Principal

op m10 : -> Mnonce
op €20 : -> Cipher2
op n10 : -> Nonce .

op k10 : ->

Skey .

op k30 : -> Key .

-- assumptions
-- eq c-fkm3
eq €20 \in ¢

3(s,p10,910,m10,e20,n10,k10,k30) = false .
ci3b(nw(s)) = true .

eq n10 \in cnonce(nw(s)) = true .
eq prO(k10) = intruder
eq k30 \in ckey(nw(s)) = true .

eq k = k30 .

—- successor state

eq s’ = fkm3
-- check if th

red inv050(s
close

o2

3(s,p10,q10,m10,e20,n10,k10,k30)
e predicate is true
,e20) implies istep100(k)

gbo2000000000000000x000 k3000000 0OO0DOO0ODOOO0
gbbdde200000d0bogobooobooobooobogobooobogn
goboboogobobogoobobbbuooubsreedggonon

open ISTEP

-- arbitrary o
ops pl0 q10 :
op mi0 : ->
op €20 : ->
op n10 : ->
op k10 : ->
op k30 : ->

-- assumptions

-- eq c-fkm3
eq €20 \in ¢
eq n10 \in ¢
eq pro(k10)

bjects

-> Principal
Mnonce

Cipher2

Nonce .

Skey .

Key .

3(s,p10,910,m10,e20,n10,k10,k30) = false .
ci3b(nw(s)) = true .

nonce(nw(s)) = true .

= intruder
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eq k30 \in ckey(nw(s)) = true .

eq (k = k30) = false .

eq not(pr0(skey(e20)) = intruder)
-— successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red inv050(s,e20) implies istep100(k)
close

o3

b 30020000000 bbU00ooobbbOoooobbboooonon
gboboboobboogbbobooobbboobbbbooobibdsrveogn
gbgbogboobbdobbooobdbuobuoobbooobooboooboon
gboboogboougbboguoobbobbuboobboobbid srved o

open ISTEP
-- arbitrary objects
ops pl0 q10 : -> Principal
op m10 : -> Mnonce
op €20 : -> Cipher2
op n10 : -> Nonce .
op k10 : -> Skey .
op k30 : -> Key .
-- assumptions
-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false .
eq €20 \in cci3b(nw(s)) = true .
eq n10 \in cnonce(nw(s)) = true .
eq prO(k10) = intruder
eq k30 \in ckey(nw(s)) = true .
eq (k = k30) = false .
eq prO(skey(e20)) = intruder
-— successor state
eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true
red inv050(s,e20) implies istep100(k)
close

0o 4

gbo400000boboobboobbogbboboobboobuoobboboaon
gobobooggobooogooo

open ISTEP
-- arbitrary objects
ops pl0 q10 : -> Principal
op m10 : -> Mnonce
op €20 : -> Cipher2
op n10 : -> Nonce .
op k10 : -> Skey .
op k30 : -> Key .
-- assumptions
eq ¢-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false
-— successor state
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eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30) .
-- check if the predicate is true

red istepl00(k) .
close

U000 fm330 000000000 0O0O0O0O0O0ODOOOOO0O0OO0OOO0OObOOOn
gobobooodbobidtrweebogoobbbooooo 1obooooogon
glioog220db3bbbbogogobbbugooboboooooobboooon
goboboboogobbbouooobobooooboboooon

OO0000000000D00D0O000 Otway-ReesDODOOOODOOODO 10000
gboggbogobodgoboobubuogbbbuoobbooobooboooboon
gogdoobobobbobobbobobboboboboboooooooouogaagaa
gboggbboboobooooboooooboobbooboooboooboon
gbobobooodgobooogbobboooooboooobbobooooooboa
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08y g

8.1 Otway-ReesUUIUO0OOO0OOOON

Otway-Rees 00000000000 ODOODOOOOODOODODOOODOODOOODOO
[1]0Otway-Rees 000000000000 OODODOOOOOOOOOOOOOOOO
gbggbooobodobogoboooboooboobbobooboooboon
gobobobooggboboooooboboooan

ﬂLDDDDDDDDDDDDDDDD \
goo :-gobo

goo :-gobo

goo :-gobo

goo :-gobo

gooobog

gbooboogbooobod
goboboogbobbooooobobogoboood

goobooogooo
gooboogooon
goo :-gobo

gob :-gooboo
gob :-goobboobod
gob :-gooboo

KDDDDDDDDD /

O0 Otway-ReesUDODOODOOODOODOO200000000000000000O
gL oOoo
gbodgobodgboogboogboboogobbbobbooouoooobooobog
guogdbogbobobbobobobododuoguoguouoooooooooon
oboooo NDOODOOOobDOoobooboo
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Messagel.
Message?.
Message3.
Messaged.

A— B
B— S5
S—B
B— A

: Ny La, I, ANa, N, 1a, IB} i, 2

s Ny Ta, I, ANA, N, Ta, I8 i o ANB, N, L4, B} K
: NoANA, Kap oo {NBs KaB} K s

: No{Na, Kap} i, o

Otway — Rees 0000000

OO00O000ONOODODOOD 32bit, 00 ADODO BOODOOOOODODOOO 16bit, O
OO000000000 KygOOODOOD64bit0DO000OO0OOOODOOOOOOODOODO
gboobooogbooooooo

gbobobooobbobooooobbboogbobbbouooon
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CASEl1.00 BO0O0O0O0O0OOO

00000 BO M(B)OOO0O

MI1.
M2.
M3.
M4.
MS5.

A— M(B)
M(B)— S
S — M(B)
M(B)— A
A+ B

N Ig, Ig, AN, N, 14, I8}k, <

N, Ia, Ig, ANa, N, s, I}k o os {NBy N, L4, IB Y i
NANA, Kagtror{NB, KaB i ps

N AN, N, L4, I8}k, o

{anything recognizable}{N,IA,IB}

Messagel OO DOODOO BO Messaged DD OO0 0000 DO0O0OOOODOODOODO
OO000000O0OMessagel DD OOODODOOOODODOM Message2] Message3 [ U
OO000D000D0000 MessagedOOODOOOODO AQDODDOOO NOOODO A,BODOO
00000 (64bit) 0000000 ODO (64bit) 00000000 OOOCOOOODOODOO
ooooobooooooobooobo MyO00b0b00b0oobooboobooboooboooo
OO0o0o0oooOoo NDOOUOOD ABpOO0O0O0ODOOO0ODDOODOOODOODOOO
OO000000D0000DODO Messaged D Messagel OO0 OO0 O0O0OOODOODOODO
OOoO0oobooboooooooooob0oooobbooboobooooboboobDboo
OOo0oboobOoooobooooboobobobooooobooboboboboooo

CASE2.0 0000000000

0000000 M(S)0000

MI1.
M2.
M3.
M4.
MS5.

A— B
B — M(S)
M(S)— B
B— A
A< B

N Ig, Ig, AN, N, 14, I}k, <

N, Ia, Ig, ANA, N, Ia, I}k oo {NBy Ny L4, B} i
NANA, N, s, I}k, oo {NBy N, L4, I} i

N AN, N, L4, I8}k, o

{anything recognizable}n 1, 15}

Message2 D000 000ODO0ODOOO0OOOOOO0OOO0OODO ADBOODOODODO
O000000000 Message30ODODOODOOO BOOOODOOMessage3l Messaged
OO00000D000O 200000 CASElI0DO0O0O0ODOODOODO NODOD A,BOODO
Oo0obob0oobooboobOobobooooboboobooooboog
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RIEEEMERL:
Ayt —o

SZEANRRL:
Ayt —o

oboooboooboog pOO00bOo0bOboooboobboboboboobobooobg
gbggbogobodobobbugugbuooboooboobobobooboon
gobobbougggbobooooobbboooooboboboooooboboboooon
00000000000000000000 (teem)00000000OOOODOODOO
0000000000000 0000000000000000000' 0000000

1001101100111100 11011011 00010010

.

Cipher text

1001101100111100 11011011 00010010

|
Kas

U sl:dgggobobbogooobood

gboobooggbboooooboboboooan

0000000000000 000000000000000000000000D0O0000000

goooobood
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8.2 NSLPKUOUOOOOOO

OO000D00000000000D00D0DbD0b00199% 00 LowedO OO NSPKOO
gobboboogobbbodoooboooooooboooooboboobod

OO00D0O00O0OD00ONSLPKODODODOOODOOODODOOODOOOODOODO
(70000000000 0000000000ODOODO0OODODODODOODOOOOOO
goo

O000000D00DD0O0O00 Otway-ReesDODOODOODOO NSLPKOOODOODOO
gboggugbogbbobboboobuoobbuoobbooobuooboooboon
O00000Otway-Rees 000 0000000000000 00000000000O
gbobobbouggbobboogoo2b0dggobboboooooboogoobobobood

e JOOU

Otway-Rees 0000000 0ODOOOOODOOOOOODOOOODODODOO
OO000000000000bO0bO0obOOobOoboOoNSLPKODODODOOODOOO
gbbuogooboogoobuoooobboobbbooobbuoooobog
godobboggbbobooobboboobobbbouobbbbooooooog
goboboogbbobboooooboboogooo

e JOOU

Otway-ReesUO0 000D 0OO0DO0O0O0OO0OODOOODOOODODOOODOOOODODOO
gbobobooobbobboogboboobobbbuoobbooooooog
gbbuogoobbogbobbuooobbboobboboooboboboonoboa
gbbuogoobbogoobuogbobbooobbbooobbooooboboa
gboboogbooboogbobogbobbbooobbbooobbuooooboa
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0 OA Otway-ReesU O OOOOOO

-- Msgl A --> B : M,A,B,{N_A,M,A B}k A

-- Msg2 B --> § : M,A,B,{N_A,M,A,BYk_A,{N_B,M,A,B}k_B
-- Msg3 $ --> B : M,{N_A,k_AB}K_A,{N_b,k_AB}k_B

-- Msg4 B --> A : M,{N_A,K_AB}

-- 00000
--000000000000000000OD

mod* PRINCIPAL principal-sort Principal {

[Principall
op intruder : -> Principal
op _=_ : Principal Principal -> Bool {comm}

var P : Principal
eq (P = P) = true .
}

-- 000000
--000000000000000000OD
mod* SERVER principal-sort Server {
[Server]

op ca : —> Server

op intruder : -> Server

op _=_ : Server Server -> Bool {comm}
var S8 : Server

eq (8 = S) = true .

}

-- Mlonce 00 (OO OO0O) OO0

-- 10000000000 ooooo0)
mod* MVALUE principal-sort Mvalue {
[Mvaluel

op _=_ : Mvalue Mvalue -> Bool {comm}
var MV : Mvalue

eq (MV = MV) = true .

}

-- Mnonce 000 (OO0O0O0OO0OOO0OODOOOOCOOOOO)
-- mnonce(p,q,nv) 000 p0O00 qOO0000000000C0O0nw 00000000 O0O0OCOO
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mod! MNONCE principal-sort Mnonce {

pr(PRINCIPAL + MVALUE)

[Mnoncel

op mnonce : Principal Principal Mvalue -> Mnonce
op creator : Mnonce -> Principal

op reciver : Mnonce -> Principal

op mv : Mnonce -> Mvalue

op _=_ : Mnonce Mnonce -> Bool {comm}

vars PS1 PD1 : Principal

vars V1 : Mvalue

vars MN1 MN2 : Mnonce

eq creator(mnonce(PS1,PD1,V1))
eq reciver(mnonce(PS1,PD1,V1))
eq mv(mnonce(PS1,PD1,V1)) = V1
eq (MO1 = MN2) = (creator(MN1) = creator(MN2) and reciver(MN1) = reciver(MN2) and mv(MN1) = mv(MN2))

PS1
PD1

-- Honce OO (ODOODOO)OODO
-- (0ooooooooa)

mod* NVALUE principal-sort Nvalue {
[Hvaluel

op _=_ : Hlvalue Nvalue -> Bool {comm}
var IV : Nvalue

eq (NV = NV) = true .

}

-- Nonce 000 (ODOOODOOOOOOOOOOODOOO)

-- nonce(p,q,nv) 000 p000 qUI 000000000000 0000000000000
mod! NONCE principal-sort Nonce {

pr(PRINCIPAL + NVALUE)

[Nonce]

op nonce : Principal Principal Nvalue -> HNonce

op creator : Nonce -> Principal

op reciver : Nonce -> Principal

op v : Nonce -> llvalue

op _=_ : HNonce Nonce -> Bool {comm}

vars PS1 PD1 : Principal

var V1 : HNvalue

vars N1 N2 : Nonce

eq creator(nonce(PS1,PD1,V1))
eq reciver(nonce(PS1,PD1,V1))
eq v(nonce(PS1,PD1,V1)) = V1
eq (N1 = N2) = (creator(lll) = creator(li2) and reciver(ll1) = reciver(li2) and v(N1) = v(l2))

PS1
PD1

- KEYOOOOOOOOOOOOOoOooooooo

mod* PUBKEY principal-sort Pubkey {
[Pubkey]

op _=_ : Pubkey Pubkey -> Bool {comm}
var PK : Pubkey

eq (PK = PK) = true .

}

-- 00000000000 00000DOO000000
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-- key(p,q,pk) 00000000000 pOO0O qOOOOOODO
-—-pk000000CO0O0O0O0O0OODOOODOODOD

mod! KEY principal-sort Key {

pr(PRINCIPAL + PUBKEY)

[Key]

op key : Principal Principal Pubkey -> Key

ops prl pr2 : Key -> Principal

op pk : Key -> Pubkey

op _=_ : Key Key -> Bool {comm}

vars K1 K2 : Key

vars P1 P2 : Principal

vars PK1 : Pubkey

eq pri(key(P1,P2,PK1)) = P1

eq pr2(key(P1,P2,PK1)) = P2

eq pk(key(P1,P2,PK1)) = PK1

eq (K1 = K2) = (pr1(K1) = pr1(K2) and pr2(K1) = pr2(K2) and pk(K1) = pk(K2))

-- 00000000000

mod! SKEY principal-sort Skey {
pr(PRINCIPAL)

[Skey]

op skey : Principal -> Skey

op prO : Skey -> Principal

op _=_ : Skey Skey -> Bool {comm}
vars K1 K2 : Skey

var P1 : Principal

eq prO(skey(P1)) = P1

eq (K1 = K2) = (prO(K1) = pro(K2))
}

—-- Messagel,Message20 000000

-- encl(sk(p),m,n,p,q) 0000 pO00O0O00000O sk(p) 00000000000
--nO0000MInOOOO NOp,qO0O0000O0DO0OCOCDOODOD

mod! CIPHER1 principal-sort Cipherl {

pr(PRINCIPAL + NONCE + MNONCE + KEY + SKEY)

[Cipheri]

op encl : Skey Mnonce Nonce Principal Principal -> Cipherl

op skey : Cipherl -> Skey

op mnonce : Cipherl -> Mnonce

op nonce : Cipherl -> Nonce

ops P q : Cipherl -> Principal

op _=_ : Cipherl Cipherl -> Bool {comm}

vars SK1 SK2 : Skey

vars M1 M2 : Mnonce

vars N1 N2 : Nonce

vars PS1 PS2 PR1 PR2 : Principal

eq skey(enc1(SK1,M1,N1,PS1,PR1)) = SK1

eq mnonce(enc1(SK1,M1,N1,PS1,PR1)) = M1

eq nonce(enc1(SK1,M1,N1,PS1,PR1)) = W1

eq p(enc1(SK1,M1,N1,PS1,PR1)) = PS1

eq q(enc1(SK1,M1,N1,PS1,PR1)) = PR1

eq (enc1(SK1,M1,W1,PS1,PR1) = enc1(SK2,M2,N2,PS2,PR2))

= (SK1 = SK2 and M1 = M2 and N1 = N2 and PS1 = PS2 and PR1 = PR2)
}

-- Message3,Message4a 0000000
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-- enc2(sk(p),n,k(p ) DOO0 pOOO00OO0O0O0O0O sk(p)ODOOOOODOOODOO
-—-nJ000WOOk(p @ OO0O0OO00OO0OOOOpOOO0qOOOOOOOODODOO
mod! CIPHER2 principal-sort Cipher2 {
pr(NONCE + PRINCIPAL + KEY + SKEY)
[Cipher2]
op enc2 : Skey Nonce Key -> Cipher2
op skey : Cipher2 -> Skey
op key : Cipher2 -> Key
op nonce : Cipher2 -> Nonce
op _=_ : Cipher2 Cipher2 -> Bool {comm}
vars SK1 SK2 : Skey
vars K1 K2 : Key
vars N1 N2 : Nonce
eq skey(enc2(SK1,N1,K1)) = SK1
eq key(enc2(SK1,l1,K1)) = K1
eq nonce(enc2(SK1,H1,K1)) = N1
eq (enc2(SK1,01,K1) = enc2(SK2,N2,K2))
= (SK1 = SK2 and N1 = N2 and K1 = K2)

-- 000000oooooooono
-- mx(creator,ssender,reciver,send-messagae)

mod! MSG principal-sort Msg{

pr(PRINCIPAL + SERVER + CIPHER1 + CIPHER2 + MNONCE)

[Msg]

-- creator sender receiver send-messeage

op ml : Principal Principal Principal Mnonce Principal Principal Cipherl -> Nsg

op m2 : Principal Principal Server Mnonce Principal Principal Cipherl Cipherl -> HMsg
op m3 : Server Server Principal Mnonce Cipher2 Cipher2 -> HNsg

op m4 : Principal Principal Principal Mnonce Cipher2 -> Msg

ops m1? m27 m37 m4? : Msg -> Bool

ops creatorl senderl reciverl idl id2 : Msg -> Principal
ops creator2 sender2 reciver2 : Msg -> Server
op mnonce : Msg -> Mnonce

ops cil ci2a ci2b : Msg -> Cipherl

ops ci3a ci3b ci4 : Msg -> Cipher2

op _=_ : Msg Msg -> Bool {comm}

vars M M1 M2 : Msg

vars CP SP RP P1 P2 : Principal

vars C5 8S RS : Server

var MI : Mnonce

vars E1 E21 E22 : Cipheril

vars E31 E32 E4 : Cipher2

-- 00000000000 000000O00000000O0
eq m17?(m1(CP,SP,RP,MN,P1,P2,E1)) = true

eq m1?(m2(CP,SP,RS,MN,P1,P2,E21 ,E22)) = false .
eq m17(m3(CS,SS,RP,MN,E31,E32)) = false .

eq m1?(m4(CP,SP,RP,MN,E4)) = false

eq m2?(m1(CP,SP,RP ,MN,P1,P2,E1)) = false .

eq m2?(m2(CP,SP,RS,MN,P1,P2,E21 ,E22)) = true .
eq m27(m3(CS,SS,RP,MN,E31,E32)) = false .

eq m27(m4(CP,SP,RP,MN,E4)) = false

eq m37(m1(CP,SP,RP ,MN,P1,P2,E1)) = false .

eq m37(m2(CP,SP,RS,MN,P1,P2,E21 ,E22)) = false .
eq m37(m3(CS,SS,RP,MN,E31,E32)) = true .

eq m37(m4(CP,SP,RP,MN,E4)) = false
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eq m4?(m1(CP,SP,RP ,MN,P1,P2,E1)) = false .

eq m4?(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = false .
eq m47(m3(CS,SS,RP,MN,E31,E32)) = false .

eq m4?(m4(CP,SP,RP ,MN,E4)) = true .
--000oooooo (coy)oooo

eq creatoril(mi(CP,SP,RP MN,P1,P2,E1)) = CP .

eq creatorl(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = CP .
eq creator2(m3(CS,SS,RP,MN,E31,E32)) = CS

eq creator1(m4(CP,SP,RP ,MN,E4)) = CP .

-- J0000o0oooooooao

eq senderl(m1(CP,SP,RP,MN,P1,P2,E1)) = SP .

eq senderl(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = SP .
eq sender2(m3(CS,SS,RP,MN,E31,E32)) = SS

eq sender1(m4(CP,SP,RP ,MN,E4)) = SP .
--J000ooooa

eq reciverl(mi(CP,SP,RP ,MN,P1,P2,E1)) = RP .

eq reciver2(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = RS
eq reciver1(m3(CS,SS,RP,MN,E31,E32)) = RP .

eq reciver1(m4(CP,SP,RP ,MN,E4)) = RP .
--gdodm

eq mnonce(ml(CP,SP,RP,MN,P1,P2,E1)) = NN .

eq mnonce(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = MN .
eq mnonce(m3(CS,$S,RP,MN,E31,E32)) = MI .

eq mnonce(m4(CP,SP,RP,MN,E4)) = MN .
--gooooad

eq id1(m1(CP,SP,RP,MN,P1,P2,E1)) = P1

eq id2(m1(CP,SP,RP,MN,P1,P2,E1)) = P2

eq id1(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = P1
eq id2(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = P2
-- message J 0000

eq cil(m1(CP,SP,RP,NN,P1,P2,E1)) = E1

eq ci2a(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = E21
eq ci2b(m2(CP,SP,RS,MN,P1,P2,E21,E22)) = E22

eq ci3a(m3(CS,SS,RP,HN,E31,E32)) = E31
eq ci3b(m3(CS,SS,RP,MN,E31,E32)) = E32
eq ci4(m4(CP,SP,RP ,MN,E4)) = E4 .

eq (M = M) = true
ceq (M1 = M2) = (m1?(M2) and
creator1(M1) = creatorl(M2) and
sender1(M1) = senderl1(M2) and
reciver1(M1) = reciver1(M2) and
mnonce(M1) = mnonce(M2) and
id1(M1) = id1(M2) and

id2(M1) = id2(M2) and

cit(M1) = ci1(M2))

if m17(M1)
ceq (M1 = M2) = (m2?(M2) and
creator1(M1) = creatorl(M2) and
sender1(M1) = senderl1(M2) and
reciver2(M1) = reciver2(M2) and
mnonce(M1) = mnonce(M2) and
id1(M1) = id1(M2) and

id2(M1) = id2(M2) and

ci2a(M1) = ci2a(M2) and
ci2b(M1) = ci2b(M2))

if m27(M1)
ceq (M1 = M2) = (m3?(M2) and
creator2(M1) = creator2(M2) and
sender2(M1) = sender2(M2) and
reciver1(M1) = reciver1(M2) and
mnonce(M1) = mnonce(M2) and
ci3a(M1) = ci3a(M2) and
ci3b(M1) = ci3b(M2))

if m37(M1)



ceq (M1 = M2) = (m4?(M2) and
creator1(M1) = creatorl(M2) and
sender1(M1) = senderl1(M2) and
reciver1(M1) = reciver1(M2) and
mnonce(M1) = mnonce(M2) and
ci4a(M1) = ci4(M2))

if m47(M1)

¥

--J0000000oO0oo0ooo0ooOoooooo
mod* EQTRIV principal-sort Elt {

pr(TRIV)

op _=_ : Elt El1t -> Bool {comm}

}

-- 0000000000

mod! BAG (D :: EQTRIV) principal-sort Bag {
[E1t.D < Bagl
op void : -> Bag

op _,_ : Bag Bag -> Bag {assoc comm id: void}
op _\in_ : E1t.D Bag -> Bool
var B : Bag

vars E1 E2 : E1t.D

eq E1 \in void = false .

ceq E1 \in (E2,B) = true if E1 = E2

ceq E1 \in (E2,B) = E1 \in B if not(El = E2)
}

--oOoooooo

mod! SET (D :: EQTRIV) principal-sort Set {
[E1t.D < Set]

op empty : -> Set

op __ : Set Set -> Set {assoc comm idem id: empty}
op _\in_ : El1t.D Set -> Bool

var S8 : Set

vars E1 E2 : E1t.D

eq E1 \in empty = false

ceq E1 \in (E2 S8) = true if E1 = E2

ceq E1 \in (E2 S) = E1 \in 8 if not(El = E2)
}

--0O0O000O0DOOoooogoo

mod# COLLECTION (D :: TRIV) principal-sort Col {
[E1t.D < Col]

op _\in_ : E1t.D Col -> Bool

}

--O0O00DOoOooooo

mod! NETWORK {

pr(PRINCIPAL + SERVER + MNONCE + NONCE + KEY)
pr(CIPHER1 + CIPHER2)



pr(BAG(MSG)*{sort Bag -> Network})
pr(COLLECTION(MNONCE)*{sort Col -> ColMnonce})
pr(COLLECTION(NONCE)*{sort Col -> ColNonce})
pr(COLLECTION(CIPHER1) *{sort Col -> ColCil})
pr(COLLECTION(CIPHER2) *{sort Col -> ColCi2})
pr(COLLECTION(KEY) *{sort Col -> ColKey})

- 000000000000000000O0OOMessagel04,0000000000000O00O0

——O0p cmnonce :
cnonce

op
op
op
op
op
op
op
op
var
var

var
var

ccil

cci2a
cci?2b
cci3a
cci3b
ccid

ckey :

ME

Network ->
: Network ->
: Network ->
: Network ->
: Network ->
: Network ->
: Network ->

Mnonce

N : Nonce

Network

-> ColMnonce

Colllonce
ColCil
ColCil
ColCil
ColCi2
ColCi2
ColCi2
Network -> ColKey

vars E1 E21 E22 : Cipheril
vars E31 E32 E4 : Cipher2
M : Msg
HW : Network
K : Key

var

ceq

not(m27 (M)
not (m37 (M)
not (m37 (M)
not(m47 (M)

eq

cnonce 000000000000 DOOOOOOOTN

000000 00000000000 s000000DOD0ODO

2,3,4,5,6,700000 ODO0O0O00O0OOOOOOOOOOOOOOOOOOOOOOOO
g0o0o0ooooooo0o00ooooOrs00D00O0D

s00O000 ODOOOOOO0O00OOOOOOOOOO0OO0O0O0OODODbOD

I \in cnonce(void) = (creator(ll) = intruder)

\in
\in
\in
\in
\in
\in
U \in

===

cnonce (M, IIW)
cnonce (M, IIW)
cnonce (M, IIW)
cnonce (M, W)
cnonce (M, IIW)
cnonce (M, IIW)
cnonce (M, IIW)

= true
= true
= true

true
true

= true

if
if
if
if
if
if

and prO(skey(ci2b(M)))
and prO(skey(ci3a(l)))
and prO(skey(ci3b(M))) =
and prO(skey(ci4(M))) = intruder)

m1?(M) and prO(skey(cil(M))) = intruder
m27 (M) and prO(skey(ci2a(M))) = intruder
m27 (M) and prO(skey(ci2b(M))) = intruder
m37 (M) and prO(skey(ci3a(M))) = intruder
m37 (M) and prO(skey(ci3b(M))) = intruder
m4? (M) and prO(skey(ci4(M))) = intruder
I \in cnonce (W)
if not(m1?(M) and prO(skey(ci1(M))) = intruder) and
not(m2? (M) and prO(skey(ci2a(M))) = intruder)

intruder)
intruder)
intruder)

and
and
and
and

ccil JO0O0ODOOOOOO0O0O0ODOOOODOOOOO01000O0O

100 O000O0000000000C0O0O0O00000 Message1t JOODOOOOOOO
200 0D000000D0 Messagel OOOOOO0O00O0O00O0ODOOOOOOOOO
300 MessagelOOOOOOODOOOOOOOOOO0OOODODOD

E1l \in ccil(void) = false .

ceq E1 \in ccil(M,NW) = true
if m17(M) and not(prO(skey(ci1(M))) = intruder) and cil(M) = E1
ceq E1 \in ccil(M,NW) = E1 \in ccil (WW)
if not(m1?(M) and not(prO(skey(cil(M))) = intruder) and cil(M) = E1)

if

eq

ceq E21 \in cci2a(M,NW) = true

cci2a DO0O0000O0O0O0O0DOOOOOOOOODOO 200000

100 O000O000000000C0C0O0O0O00000 Message20O00O0O0O0OO0OOOO
200 0DO000000DO0 Message20 000000000000 DOOOOOOOOO
300 Message2O0OOOOOODOOOOOOOOOOOOODODOD

E21 \in cci2a(void) = false .
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if m27(M) and not(prO(skey(ci2a(M))) = intruder) and ci2a(M) = E21 .
ceq E21 \in cci2a(M,NW) = E21 \in cci2a(llW)
if not(m2?(M) and not(prO(skey(ci2a(M))) = intruder) and ci2a(M) = E21)

-- cci2b 0000O000O000O0DOOOOOOOOOOO 200000

-- 100 OD000000000000DO0O0O0O00000 Message20 000000000
-- 200 OD0O0O0O0O000 Message20 0000000000000 OODOOOOOO
-- 300 Message2 0000000000000 OOODOOOOOOO

eq E22 \in cci2b(void) = false .

ceq E22 \in cci2b(M,NW) = true

if m27(M) and not(prO(skey(ci2b(M))) = intruder) and ci2b(M) = E22 .
ceq E22 \in cci2b(M,NW) = E22 \in cci2b(WW)

if not(m2?(M) and not(prO(skey(ci2b(M))) = intruder) and ci2b(M) = E22)

-- ¢cci3a 0000000000O0DO0OCOOOOO0O0OOO 300000

-- 100 OD000000000000CDO0O0O0O00000 Message300O0O0O0O0O0OOOO
-- 200 OD0O0O0O0O000 Message30 00000000000 00OODOOOOOO
-- 300 Message30 0000000000000 DOOODOODOOOOO

eq E31 \in cci3a(void) = false .

ceq E31 \in cci3a(M,NW) = true

if m37(M) and not(prO(skey(ci3a(M))) = intruder) and ci3a(M) = E31

ceq E31 \in cci3a(M,WW) = E31 \in cci3a(llW)

if not(m3?(M) and not(prO(skey(ci3a(M))) = intruder) and ci3a(M) = E31)

-- ¢cci3b 0000O000000O0O0O0OOCOCOO0O0O0OOO 300000

-- 100 OD000000000000CDO0O0O0O00000 Message300O0O0O0O0O0OOOO
-- 200 OD0O0O0O0O000 Message30 00000000000 00OODOOOOOO
-- 300 Message30 0000000000000 DOOODOODOOOOO

eq E32 \in cci3b(void) = false .

ceq E32 \in cci3b(M,NW) = true

if m37(M) and not(prO(skey(ci3b(M))) = intruder) and ci3b(M) = E32 .
ceq E32 \in cci3b(M,NW) = E32 \in cci3b(llW)

if not(m3?(M) and not(prO(skey(ci3b(M))) = intruder) and ci3b(M) = E32)

-- ¢cci4 000000O0O0OCOOOOO0O0O0O0O0OOCDODO 400000

-- 100 OD000000000000CDO0O0O0O00000 Message4aODOODOOOOOOO
-- 200 OD0O0O0O0O000 Message4aJODODO0OOOOOOOOOO0OOODOOOOOO
-- 300 Message4 O DODODOOOOOOOOOODOOODOOOOOOO

eq E4 \in cci4(void) = false .

ceq E4 \in cci4(M,NW) = true

if m47(M) and not(prO(skey(ci4(M))) = intruder) and ci4(M) =

ceq E4 \in cci4(M,NW) = E4 \in cci4 (W)

if not(m4?(M) and not(prO(skey(ci4(M))) = intruder) and ci4(M) = E4)

--ckey 0O0O00OODOODOODOOOODODOOO

--1000 DO0O0OO00O0DOO00oOOo0oboooooooooboooooo
--2,3,400 O00O0OOOOOOOOOOODOODOOO
--J00000000000000bDO00oo0oboooooooOobooooooo
--5000 1040000000000000000DO0O0O0O0O0ODOOODODODOO
eq K \in ckey(void) = false .

ceq K \in ckey(M,NW) = true

if m37(M) and prO(skey(ci3a(M))) = intruder and key(ci3a(M)) = K
ceq K \in ckey(M,NW) = true
if m37(M) and prO(skey(ci3b(M))) = intruder and key(ci3b(M)) = K

ceq K \in ckey(M,NW) = true

if m47(M) and prO(skey(ci4(M))) = intruder and key(ci4(M)) = K .

ceq K \in ckey(M,NW) = K \in ckey(llW)
if not(m3?(M) and prO(skey(ci3a(M))) = intruder and key(ci3a(M)) = K) and
not(m3?(M) and prO(skey(ci3b(M))) = intruder and key(ci3b(M)) = K) and
not(m4? (M) and prO(skey(ci4(M))) = intruder and key(ci4(M)) = K)
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-- OTWAY-REES Protocol OOODO

mod* OTWAY-REES {

pr(NETWORK)

pr(SET(MVALUE) #{sort Set -> Umvalue})
pr(SET(NVALUE) #{sort Set -> Uvalue})
pr(SET(PUBKEY) #{sort Set -> Sharekey})
*[System] *

-- any initial state

op init : -> System

-- observation operations
bop uv : System -> Uvalue
bop um : System -> Umvalue
bop nw : System -> Network
bop sk : System -> Sharekey

-- action operations

-- sending messges

-- MmO000 mO00 0O00MOO0OO Na

bop mesl : System Principal Principal Mvalue Hvalue -> System
-- M2000 000 Nb messagel

bop mes2 : System Principal Nvalue Msg -> System

-- messgae2 00OOOOOO

bop mes3 : System Msg Pubkey -> System

-- M4000 messagel messgae2 messgage3

bop mes4 : System Principal Msg Msg Msg -> System

-- faking messages

-- for messagel

bop fkmll : System Principal Principal Mnonce Cipherl -> System
bop fkml2 : System Principal Principal Mnonce Nonce Skey -> System

-- for message2

bop fkm21 : System Principal Principal Mnonce Cipherl Cipherl -> System

bop fkm22 : System Principal Principal Mnonce Cipherl Nonce Skey -> System
bop fkm23 : System Principal Principal Mnonce Cipherl Nonce Skey -> System
bop fkm24 : System Principal Principal Mnonce Nonce Nonce Skey Skey -> System

-- for message3

bop fkm31 : System Principal Principal Mnonce Cipher2 Cipher2 -> System

bop fkm32 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> System
bop fkm33 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> System
bop fkm34 : System Principal Principal Mnonce Nonce HNonce Skey Skey Key -> System
-- for messaged

bop fkm41l : System Principal Principal Mnonce Cipher2 -> System

bop fkm42 : System Principal Principal Mnonce Nonce Skey Key -> System

-- CafeOBJ variables
var 8 : System

vars M1 M2 M3 : Msg
vars P Q : Principal
var MV : Mvalue

vars V1 V2 : Hlvalue
var PK : Pubkey

vars MN : Mnonce

vars N1 N2 : Honce
vars E11 E12 : Cipherl
vars E21 E22 : Cipher2
var K : Key

vars K1 K2 : Skey

-- for any initial state
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eq um(init) = empty .
eq uv(init) = empty .
eq nw(init) = void .
eq sk(init) = empty .

-- for mesl

-- 0000 DO000000 m,la00000O00O0O0O

-- 0000 OD000O000O00o0o00ooooo

-- w,w 0000000000000 O0OO M,laf0000O00O0OO

op c-mesl : System Principal Principal Mvalue Nvalue -> Bool

eq c-mes1(S,P,Q,MV,V1) = not(MV \in um(S)) and not(V1i \in uv(S))
ceq uv(mes1(S,P,Q,MV,V1))
ceq um(mes1(S,P,Q,MV,V1))
ceq nw(mes1(S,P,Q,MV,V1))
= m1(P,P,Q,mnonce(P,Q,MV),P,Q,encl(skey(P) ,mnonce(P,Q,MV) ,nonce(P,q,V1),P,Q)) , nw(S)
if c-mes1(S,P,Q,MV,V1)

eq sk(mes1(S,P,Q,MV,V1)) = sk(S)

ceq mes1(S,P,Q,MV,V1) = S if not c-mes1(S,P,Q,MV,V1)

Vi uv(8) if c-mesi1(S,P,Q,MV,V1)
MV um(S8) if c-mesi1(S,P,Q,MV,V1)

-- for mes2

-- 0000 00000000 Message1l 00000000000 NbO0OOO

-- MessagelO0OO 0000 Q

-- 0000 O000000000000000C0uw O0O000000000000000000

op c-mes2 : System Principal Nvalue Msg -> Bool

eq c—mes2(S,Q,V2,M1) = M1 \in nw(S) and

m1?(M1) and

reciver1(M1) = Q and

not(V2 \in uv(S)) .

eq um(mes2(S,Q,V2,M1)) = um(S)
ceq uv(mes2(8,Q,V2,M1)) = V2 uv(S) if c-mes2(S,Q,V2,M1)
ceq nw(mes2(S,Q,V2,M1))
= m2(Q,Q,ca,mnonce(M1),id1(M1),Q,

ci1(M1) ,enc1(skey(Q) ,mnonce(M1) ,nonce(Q,id1(M1),V2),id1(M1),id2(M1))) , nw(S)
if c-mes2(S,Q,V2,M1)
eq sk(mes2(8,Q,V2,M1)) = sk(S)
ceq mes2(S,Q,V2,M1) = S if not c-mes2(S,Q,V2,M1)

-- for mes3

-- 0000 O00000D00 Message2O0OOOOOOODOOODOOODO

-- Message20 00 O0O0O0DO CA,

00000000000 A0 ca0000O,BO0 ca0D0OODOOODOOOOODO
00000000 M, 000 A,BOOO0OOOOODOODO M, 000 A,BODOO
-- 0000 DO000000O000000000O0000O00o0o00bO0o0oooooooon
op c-mes3 : System Msg Pubkey -> Bool

eq c-mes3(S,M2,PK) = M2 \in nw(S) and m2?(M2) and

reciver2(M2) = ca and

prO(skey(ci2a(l2))) = id1(M2) and

pro(skey(ci2b(M2))) = id2(M2) and

mnonce (M2) = mnonce(ci2a(M2)) and

mnonce (M2) = mnonce(ci2b(M2)) and

mnonce(ci2a(M2)) = mnonce(ci2b(M2)) and

p(ci2a(M2)) = id1(M2) and

q(ci2a(M2)) = id2(M2) and

p(ci2b(M2)) = id1(M2) and

q(ci2b(M2)) = id2(M2) and
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not(PK \in sk(S)) .
eq um(mes3(S,M2,PK))
eq uv(mes3(S,M2,PK))
ceq nw(mes3(S,M2,PK))
= m3(reciver2(M2) ,reciver2(M2),sender1(M2) ,mnonce(lM2),

enc2(skey(id1(M2)) ,nonce(ci2a(M2)) ,key(id1(M2),id2(M2),PK)),

enc2(skey(id2(M2)) ,nonce(ci2b(M2)) ,key(id1(M2),id2(M2),PK))) , nw(S)
if c-mes3(S,M2,PK) .
ceq sk(mes3(S,M2,PK)) = PK sk(S)
if c-mes3(S,M2,PK)
ceq mes3(S,M2,PK) = S if not c-mes3(S,M2,PK)

um(S)
uv(s)

-- for mes4

-- 0000 00000000 Messagel,Message2,Message3 000
-- Messagel OO OOOOB

-- Message20 00 O00OO0DOOODO B

-—-0000 caA, 0000000 MessagelOOODOOOO QO cAODDODODODOOOO
0000000000 M, 000 A,BOOODOOODOODOOO M, 000 A,BOODO
—-Messagel DO OO MO Message2O0OODO MODODO
--Message30 00 O00000O0O00O caDOOOO B
--000000 100000000 sOOOOOOOOOOO0O
--000 MO Messagel OOOO MOOOOO ,Message2000000000000OCOCOOOOOOO
-- 0000 ODO000O00oOo0oOooooooa

op c-mes4 : System Principal Msg Msg Msg -> Bool

eq c-mes4(S,Q,M1,M2,M3) = M1 \in nw(S) and m1?(M1) and

M2 \in nw(S) and m27(M2) and

M3 \in nw(S) and m37(M3) and

reciver1(M1) = Q and

sender1(M2) = Q and

reciver2(M2) = ca and

pro(skey(ci2b(M2))) = Q and

mnonce(M1) = mnonce(M2) and

mnonce (M2) = mnonce(ci2b(M2)) and

id2(M2) = Q and

p(ci2b(M2)) = id1(M2) and

q(ci2b(M2)) = id2(M2) and

sender2(M3) = ca and

reciver1(M3) = Q and

pro(skey(ci3b(M3))) = Q and

mnonce (M3) = mnonce(M2) and

nonce(ci3b(M3)) = nonce(ci2b(M2))

eq um(mes4(S,Q,M1,M2,M3)) = um(S)

eq uv(mes4(S,Q,M1,M2,M3)) = uv(S)

ceq nw(mes4(S,Q,M1,M2,H3))

= m4(Q,Q,sender1(M1) ;mnonce(M3) ,ci3a(M3)) , nw(S)

if c-mes4(S,Q,M1,M2,H3)

eq sk(mes4(S,Q,M1,M2,M3)) = sk(S)

ceq mes4(S,Q,M1,M2,M3) = S if not c-mes4(S,Q,M1,M2,M3)

-- for action fkmil

-- 0000 0O00O0o0o0o0OoOo0ooboO0o000oo0oo0oo0oob0 cr00oooooboDboooD
-- 0000 O00000ooboo0o000ooooooo

op c—-fkmll : System Principal Principal Mnonce Cipherl -> Bool

eq c-fkm11(S,P,Q,MN,E11) = E11 \in ccil(nw(8))

eq uv(fkm11(S,P,Q,MN,E11)) = uv(S) .

ceq nw(fkm11(S,P,Q,MN,E11)) = ml(intruder,P,Q,MN,P,Q,E11) , nw(S)
if c-fkm1i(S,P,Q,MN,E11) .

eq sk(fkm11(S,P,Q,MN,E11)) = sk(S) .
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ceq fkmi1(S,P,Q,MN,E11) = § if not c-fkm11(S,P,Q,MN,Ei1)

-- for action fkmil?2

-- 0000 OCO0OO00ooOOoOooOoooooobooowpbOOO kpOO0OOoOoDOoOOOO

-- 0000 DO000O00000ooooooooooo

op c—fkml2 : System Principal Principal Mnonce Nonce Skey -> Bool

eq c¢—fkm12(S,P,Q,MN,N1,K1) = N1 \in cnonce(nw(S)) and

pro(K1) = intruder .

eq uv(fkm12(S,P,Q,MN,H1,K1)) = uv(S)

ceq nw(fkm12(S,P,Q,MN,01,K1)) = mi(intruder,P,Q,MN,P,Q,encl (K1 ,M0,H1,P,Q)) , nw(S)
if c-fkm12(S,P,Q,HN,N1,K1)

eq sk(fkm12(S,P,Q,MN,H1,K1)) = sk(S)

ceq fkm12(S,P,Q,MN,N1,K1) = S if not(c-fkm12(S,P,Q,MN,T1,K1)) .

-- for action fkm21

-- 0000 OD000000000000O000000 c1,c200000000000

-- 0000 DO000O00000ooooooooooo

op c¢c—-fkm21 : System Principal Principal Mnonce Cipherl Cipherl -> Bool

eq c¢-fkm21(S,P,Q,MN,E11,E12) = E11 \in cci2a(nw(S)) and

E12 \in cci2b(nw(8)) .

eq uv(fkm21(S,P,Q,MN,E11,E12)) = uv(S)

ceq nw(fkm21(S,P,Q,MN,E11,E12)) = m2(intruder,P,ca,MN,P,Q,E11,E12) , nw(S)
if c-fkm21(S,P,Q,HN,E11,E12) .

eq sk(fkm21($,P,Q,MN,E11,E12)) = sk(S)

ceq fkm21(S,P,Q,MN,E11,E12) = § if not c-fkm21(S,P,Q,MN,Ei1,E12)

-- for action fkm22
-- 0000 O00000000000000000 c10000 0000 kqODOOOOOO0O000O0
-- 0000 O00000ooboo0o000ooooooo
op c¢c—-fkm22 : System Principal Principal Mnonce Cipherl Nonce Skey -> Bool
eq c-fkm22(S,P,Q,MN,E11,02,K2) = E11 \in cci2a(nw(S)) and
2 \in cnonce(nw(8)) and
pro(K2) = intruder .

eq uv(fkm22(S,P,Q,MN,E11,02,K2)) = uv(S)

ceq nw(fkm22(S,P,Q,MN,E11,02,K2)) = m2(intruder,Q,ca,Ml,P,Q,E11,encl1(K2,MN,N2,P,Q)) , nw(S)
if c-fkm22(S,P,Q,MN,E11,02,K2)

eq sk(fkm22(S,P,Q,MI,E11,N2,K2)) = sk(S)

ceq fkm22(S,P,Q,MN,E11,02,K2) = § if not c-fkm22(S,P,Q,MN,E11,N2,K2)

-- for action fkm23
-- 0000 O00000000000000000 c20000 vaODOOO kpODOOOOOOOODODO
-- 0000 O00000ooboo0o000ooooooo
op ¢c—-fkm23 : System Principal Principal Mnonce Cipherl Nonce Skey -> Bool
eq c-fkm23(S,P,Q,MN,E12,01,K1) = E12 \in cci2b(nw(S)) and
1 \in cnonce(nw(8)) and
pro(K1) = intruder .

eq uv(fkm23(S,P,Q,MN,E12,01,K1)) = uv(S)

ceq nw(fkm23(S,P,Q,MN,E12,N1,K1)) = m2(intruder,Q,ca,MN,P,Q,encl(K1,MN,N1,P,Q),E12) , nw(S)
if c-fkm23(S,P,Q,MN,E12,N1,K1) .

eq sk(fkm23(S,P,Q,MN,E12,01,K1)) = sk(§)

ceq fkm23(S,P,Q,MN,E12,N1,K1) = § if not c-fkm23(S,P,Q,MN,E12,N1,K1) .

-- for action fkm24

-- 0000 00000000000 0000000 wp,iq0000 Kp,kqOOOODOODODODOD
-- 0000 O00000ooboo0o000ooooooo

op c¢c—-fkm24 : System Principal Principal Mnonce Nonce Nonce Skey Skey -> Bool

eq c-fkm24(S,P,Q,MN,N1,N2,K1,K2) = N1 \in cnonce(nw(S)) and
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2 \in cnonce(nw(8)) and
pro(K1) = intruder and
pro(K2) = intruder

eq uv(fkm24(S,P,Q,MN,N1,02,K1,K2)) = uv(S)

ceq nw(fkm24(S,P,Q,MN,N1,02,K1,K2)) = m2(intruder,Q,ca,MN,P,Q,enc1(K1,MN,N1,P,Q),encl (K2 ,MN,N2,P,Q)) , nw(S)

if c-fkm24(S,P,Q,HN,N1,N2,K1,K2)
eq sk(fkm24($,P,Q,MN,N1,02 K1 ,K2)) = sk(S)
ceq fkm24(S,P,Q,MN,N1,N2,K1,K2) = § if not c-fkm24(S,P,Q,MN,N1,N2,K1,K2)

-- for action fkm31

-- 0000 OD000000O000O000O0000O000o0o0oooooooooa

-- 0000 DO000O00000ooooooooooo

op ¢c—-fkm31 : System Principal Principal Mnonce Cipher2 Cipher2 -> Bool
eq c¢-fkm31(S,P,Q,MN,E21,E22) = E21 \in cci3a(nw(S)) and

E22 \in cci3b(nw(8))

eq uv(fkm31(S,P,Q,MN,E21,E22)) = uv(S)

ceq nw(fkm31(S,P,Q,MN,E21,E22)) = m3(intruder,ca,P,MN,E21,E22) , nw(S)
if c-fkm31(S,P,Q,HN,E21,E22)

eq sk(fkm31(S,P,Q,MN,E21,E22)) = sk(S)

ceq fkm31(S,P,Q,MN,E21,E22) = § if not c-fkm31(S,P,Q,MN,E21,E22)

-- for action fkm32
-- 0000 ODOo0OO0O0bDOoooobooooooog ces,00b0mq, 000 Kq,KkpqOOOOODOOODOOO
-- 0000 DO000O00000ooooooooooo
op ¢c—fkm32 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> Bool
eq c-fkm32(S,P,Q,MN,E21,02,K2,K) = E21 \in cci3a(nw(S)) and
U2 \in cnonce(nw(S)) and
pro(K2) = intruder and
K \in ckey(nw(S))
eq uv(fkm32(S,P,Q,MN,E21,02,K2,K)) = uv(S)
ceq nw(fkm32(S,P,Q,MN,E21,02,K2,K)) = m3(intruder,ca,,ll,E21,enc2(kK2,02,K)) , nw(S)
if c-fkm32(S,P,Q,HMN,E21,N2,K2,K)
eq sk(fkm32(S,P,Q,MN,E21,02,K2,K)) = sk(§)
ceq fkm32(S,P,Q,MN,E21,N2,K2,K) = S if not c-fkm32(S,P,Q,MN,E21,H2,K2,K)

-- for action fkm33
-- 0000 ODO0O0OO0DOOo0ooO0obDOooooooO c4,0000mp, 000 Kp,KpqOOOOODOOODODOO
-- 0000 DO000O00000ooooooooooo
op ¢c—-fkm33 : System Principal Principal Mnonce Cipher2 Nonce Skey Key -> Bool
eq c-fkm33(S,P,Q,MN,E22,01 ,K1,K) = E22 \in cci3b(nw(S)) and
U1 \in cnonce(nw(S)) and
pro(K1) = intruder and
K \in ckey(nw(S))
eq uv(fkm33(S,P,Q,MN,E22,01,K1,K)) = uv(S)
ceq nw(fkm33(S,P,Q,MN,E22,01,K1,K)) = m3(intruder,ca,Q,Ml,enc2(K1,N1,K) ,E22) , nw(S)
if c-fkm33(S,P,Q,MN,E22,N1,K1,K)
eq sk(fkm33(S,P,Q,MN,E22,01,K1,K)) = sk(§)
ceq fkm33(S,P,Q,MN,E22,01,K1,K) = S if not c-fkm33(S,P,Q,MN,E22,N1,K1,K)

-- for action fkm34
-- 0000 OOo0O0oooooooboo0o000o0000 wp,iq0, 000 Kp,Kq,KpqOOOODOOOOOODO
-- 0000 O00000ooboo0o000ooooooo
op c¢c—-fkm34 : System Principal Principal Mnonce Nonce Nonce Skey Skey Key -> Bool
eq c-fkm34(S,P,Q,MN,N1,N2,K1,K2,K) = N1 \in cnonce(nw(S8)) and
2 \in cnonce(nw(8)) and

pro(K1) = intruder and

pro(K2) = intruder and

K \in ckey(nw(S))
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eq uv(fkm34(S,P,Q,MN,N1,02,K1,K2,K)) = uv(S)

ceq nw(fkm34(S,P,Q,MN,01,02,K1,K2,K)) = m3(intruder,ca,Q,Ml,enc2(K1,H1,K) ,enc2(K2,02,K)) , nw(S)
if c-fkm34(S,P,Q,NN,N1,N2,K1,K2,K)

eq sk(fkm34(S,P,Q,HN,N1,N2,K1,K2,K)) = sk(S)

ceq fkm34(S,P,Q,MI,N1,N2,K1,K2,K) = S if not c-fkm34(S,P,Q,HN,N1,N2,K1,K2,K)

-- for actin fkm41

-- 0000 0O000o0o00Oo0OO0O000000000 csO00O0OOOOb0DOOD
-- 0000 O00000ooboo0o000ooooooo

op c—-fkm41l : System Principal Principal Mnonce Cipher2 -> Bool

eq c-fkm41(S,P,Q,MN,E21) = E21 \in cci4(nw(8))

eq uv(fkm41(S,P,Q,MN,E21)) = uv(S)

ceq nw(fkm41(S,P,Q,MN,E21)) = m4(intruder,q,P,MN,E21) ,nw(S)
if c-fkm41(S,P,Q,MN,E21)

eq sk(fkm41(S,P,Q,MN,E21)) = sk(S)

ceq Tkm41(S,P,Q,MI,E21) = S if not c-fkm41(S,P,Q,MN,E21)

-- for actino fkm42

-- 0000 OCO0O0O0OO00ooOOoooooOoooOo wpOOOO0 Kp,KpqOOOOOOOOODOO

-- 0000 DO000O00000ooooooooooo

op c—-fkm42 : System Principal Principal Mnonce Nonce Skey Key -> Bool

eq c-fkm42(S,P,Q,MN,N1,K1,K) = 01 \in cnonce(nw(S)) and

pro(K1) = intruder and

K \in ckey(nw(8))

eq uv(fkm42(S,P,Q,MN,N1,K1,K)) = uv(S)

ceq nw(fkm42(S,P,Q,MN,1,K1,K)) = m4(intruder,q,P,MlN,enc2(K1,01,K)) , nw(S)
if c-fkm42(S,P,Q,HN,N1,K1,K)

eq sk(fkm42(S,P,Q,MN,N1,K1,K)) = sk(S)

ceq fkm42(S,P,Q,MN,N1,K1,K) = S if not c-fkm42(S,P,Q,HN,N1,K1,K)

¥
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0 OB 0OO000000000

-- Invariant
-- Begin Secrecy Theorem

mod INV {

pr(0OTWAY-REES)

ops el e21 e22 : -> Cipherl
ops €31 e32 e4 : -> Cipher2
op k : -> Key

-- declare invariants to prove

op inv010 : System Cipherl -> Bool
op inv020 : System Cipherl -> Bool
op inv030 : System Cipherl -> Bool
op inv040 : System Cipher2 -> Bool
op inv050 : System Cipher2 -> Bool
op inv060 : System Cipher2 -> Bool
op inv100 : System Key -> Bool

-- CafeOBJ variables

var 8 : System

vars E1 E21 E22 : Cipheril
vars E31 E32 E4 : Cipher2
var K : Key

-- define invariants to prove

eq inv010(S,E1) = (E1 \in ccil(nw(S)) implies not(prO(skey(E1)) = intruder))

eq inv020(S,E21) = (E21 \in cci2a(nw(8)) implies not(prO(skey(E21)) = intruder))

eq inv030(S,E22) = (E22 \in cci2b(nw(8)) implies not(prO(skey(E22)) = intruder))

eq inv040(S,E31) = (E31 \in cci3a(nw(8)) implies not(prO(skey(E31)) = intruder))

eq inv050(S,E32) = (E32 \in cci3b(nw(8)) implies not(prO(skey(E32)) = intruder))

eq inv060(S,E4) = (E4 \in cci4(nw(S)) implies not(prO(skey(E4)) = intruder))

eq inv100(8,K) = (K \in ckey(nw(8)) implies (pr1(K) = intruder or pr2(K) = intruder))

}

mod ISTEP {

pr(INV)

-- arbitrary objects
ops s s’ : —> System

-- declare predicates to prove in inductive step
op istep010 : Cipherl -> Bool

op istep020 : Cipherl -> Bool

op istep030 : Cipherl -> Bool

op istep040 : Cipher2 -> Bool

op istep050 : Cipher2 -> Bool

op istep060 : Cipher2 -> Bool

op istepl00 : Key -> Bool

-- CafeOBJ variables
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vars E1 E21 E22 : Cipheril
vars E31 E32 E4 : Cipher2
var K : Key

-- define predicates to prove in inductive step

eq istepO10(E1) = inv010(s,E1) implies inv010(s’,E1)

eq istep020(E21) = inv020(s,E21) implies inv020(s’,E21)
eq istep030(E22) = inv030(s,E22) implies inv030(s’,E22)
eq istepO40(E31) = inv040(s,E31) implies inv040(s’,E31)
eq istepO50(E32) = inv050(s,E32) implies inv050(s’,E32)
eq istepO60(E4) = inv060(s,E4) implies inv060(s’,E4)

eq istep100(K) = inv100(s,K) implies inv100(s’,K)
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0 O0C ooi1godd

== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
-- 1) Base case

open INV
red inv100(init,k)
close

-- II) Inductive case

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 1) mes1(s,p10,q10,mv10,r10) --

-- 1.1) c-mes1(s,p10,q10,mv10,r10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

-- eq c-mes1(s,pl10,q10,mv10,r10) = true
eq mv10 \in um(s) = false

eq r10 \in uv(s) = false

—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predicate is true

red istep100(k)

close

-- 1.2) not c-mes1(s,pl10,q10,mv10,r10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

eq c-mesl(s,pl0,q10,mv10,r10) = false
—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predivate is true

red istep100(k)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 2) mes2(s,q10,r10,mes10) --

-- 2.1) c-mes2(s,q10,r10,mes10)

open ISTEP

-- arbitrary object

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

op nwl0 : -> Network .
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-- assumptions

-- eq c-mes2(s,ql0,r10,mes10) = true
eq nw(s) = mesl0 , nwiO .

eq m1?(mes10) = true

eq reciverl(mes10) = q10 .

eq r10 \in uv(s) = false

—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep100(k)

close

-- 2.2) not c-mes2(s,ql10,r10,mes10)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

-- assumptions

eq c—mes2(s,ql0,r10,mes10) = false
—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep100(k)

close

—=> kR kR kR kok ko kR ok Rk ok ok Rk ok Rk kR Rk Rk Rk kR ok ——
--> 3) mes3(s,mes10,pkl10) --

-- 3.1) c-mes(s,mes10,pk10)

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true

eq nw(s) = mesl0 , nwiO .

eq m2?7(mes10) = true

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false

eq (k = key(id1(mes10),id2(mes10),pk10)) = false
—- successor state

eq s’ = mes3(s,mes10,pk10)

-- check if the predicate is true

red istep100(k)

close

open ISTEP

-- arbitrary objects
op mesl0 : -> Msg .

op pk10 : -> Pubkey .
op nwl0 : -> Network .
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assumptions

eq c-mes3(s,mes10,pkl10) = true .
nw(s) = mes10 , nwiO .

m2?(mes10) = true .

reciver2(mes10) = ca .
pro(skey(ci2a(mes10))) = id1(mes10)
pro(skey(ci2b(mes10))) = id2(mes10)
mnonce (mes10) = mnonce(ci2a(mes10))
mnonce (mes10) = mnonce(ci2b(mes10))
mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
p(ci2a(mes10)) id1(mes10)
q(ci2a(mes10)) = id2(mes10)
p(ci2b(mes10)) = id1l(mes10)
q(ci2b(mes10)) = id2(mes10)

pk10 \in sk(s) = false .

k = key(id1(mes10),id2(mes10),pk10)
id1(mes10) = intruder

successor state

s’ = mes3(s,mes10,pk10)

check if the predicate is true

red istep100(k)
close

open ISTEP

op
op
op

arbitrary objects

mes10 : -> Msg .

pk10 : -> Pubkey .

n¥l0 : -> Network .

assumptions

eq c-mes3(s,mes10,pkl10) = true .
nw(s) = mes10 , nwiO .

m2?(mes10) = true .

reciver2(mes10) = ca .
pro(skey(ci2a(mes10))) = id1(mes10)
pro(skey(ci2b(mes10))) = id2(mes10)
mnonce (mes10) = mnonce(ci2a(mes10))
mnonce (mes10) = mnonce(ci2b(mes10))
mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
p(ci2a(mes10)) = id1(mes10)
q(ci2a(mes10)) = id2(mes10)
p(ci2b(mes10)) = id1l(mes10)
q(ci2b(mes10)) = id2(mes10)

pk10 \in sk(s) = false .

k = key(id1l(mes10),id2(mes10),pk10)
(id1(mes10) = intruder) = false
id2(mes10) = intruder

successor state

s’ = mes3(s,mes10,pk10)

check if the predicate is true

red istep100(k)
close

open ISTEP

op
op
op

arbitrary objects

mes10 : -> Msg .

pk10 : -> Pubkey .

nwl0 : -> Network .

assumptions

eq c-mes3(s,mes10,pkl10) = true .
nw(s) = mes10 , nwiO .

m2? (mes10) = true .
reciver2(mes10) = ca .
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eq prO(skey(ci2a(mes10))) = id1(mes10)

eq prO(skey(ci2b(mes10))) = id2(mes10)

eq mnonce(mes10) = mnonce(ci2a(mes10))

eq mnonce(mes10) = mnonce(ci2b(mes10))

eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = id1l(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = id1l(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false

eq k = key(id1(mes10),id2(mes10) ,pk10)
eq (id1(mes10) = intruder) = false

eq (id2(mes10) = intruder) = false

-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep100(k)

close

-- 3.2) not c-mes3(s,mesl10,pkl0)
open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

-- assumptions

eq c-mes3(s,mes10,pkl10) = false
-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true
red istep100(k)

close

=D kR R AR R KKK AR KK KKK KKK KK KK KK KK KKK R KKK KK KRRk KRk = —
--> 4) mes4(s,q10,mes10,mes20,mes30) --

-- 4.1) c-mes4(s,q10,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))

eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq (k = key(ci3a(mes30))) = false
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—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true
red istep100(k)

close

open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq k = key(ci3a(mes30))

eq prO(skey(ci3a(mes30))) = intruder
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true
red istep100(k)

close

open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)



eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq k = key(ci3a(mes30))

eq (pro(skey(ci3a(mes30))) = intruder) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep100(k)

close

-- 4.2) not c-mes4(s,ql0,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

-- assumptions

eq c—mes4(s,q10,mes10,mes20,mes30) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 5) fkm11(s,p10,q10,m10,e10) --

-- 5.1) c-fkm11(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

--eq c¢-fkm11(s,p10,q10,m10,e10) = true
eq €10 \in ccil(nw(s)) = true

—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep100(k)

close

-- 5.2) not c-fkm11(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

eq c-fkm11(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep100(k)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 6) fkm12(s,p10,q10,m10,n10,k10) --

-- 6.1) c-fkm12(s,p10,q10,m10,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm12(s,p10,q10,m10,n10,k10) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

—- successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)
-- check if the predicate is true
red istep100(k)

close

-- 6.2) not c-fkm12(s,p10,q10,m10,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm12(s,p10,q10,m10,n10,k10) = false
—- successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 7) fkm21(s,p10,q10,m10,e10,e20) --

-- 7.1) ¢-fkm21(s,p10,q10,m10,e10,e20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

-- eq c-fkm21(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci2a(nw(s)) = true

eq €20 \in cci2b(nw(s)) = true

—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep100(k)

close

-- 7.2) not c-fkm21(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

eq c¢-fkm21(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep100(k)

close

== skokokokokok ok ok ok ok skok ok ok ok skok ok ok ok sk skok ok ok sk sk sk ok ok ok ok sk ok ok ok ok ok sk ok ok ok ok sk ok sk skok ok ok ok sk skok ok ok sk skok ok ok ok sk skok ok ok sk skok ok ok kok ok kok ok ok ——
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--> 8) fkm22(s,p10,q10,m10,e10,n20,k20) --
-- 8.1) c-fkm22(s,p10,q10,m10,e10,n20,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

-- eq c-fkm22(s,p10,q10,m10,e10,n20,k20) = true
eq €10 \in cci2a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)
-- check if the predicate is true

red istep100(k)

close

-- 8.2) not c-fkm22(s,p10,q10,m10,e10,n20,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

eq c¢-fkm22(s,p10,q10,m10,e10,n20,k20) = false
—- successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 9) fkm23(s,p10,q10,m10,e20,n10,k10) --

-- 9.1) c-fkm23(s,p10,q10,m10,e20,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm23(s,p10,q10,m10,e20,n10,k10) = true
eq €20 \in cci2b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep100(k)

close

-- 9.2) not c-fkm23(s,p10,q10,m10,e20,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm23(s,p10,q10,m10,e20,n10,k10) = false
—- successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 10) fkm24(s,p10,q10,m10,n10,n20,k10,k20) —-

-- 10.1) ¢c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

-- eq c-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)

-- check if the predicate is true

red istep100(k)

close

-- 10.2) not c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

eq c¢-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = false
—- successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)

-- check if the predicate is true

red istep100(k)

close

== skokskoRsoR ok KRR KR oK K KK KR koK KoK K kK KR koK Ko K K sk K KR koK KKk K kK KRRk KKk Kok — =
--> 11) fkm31(s,p10,q10,m10,e10,e20) --

-- 11.1) ¢c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq prO(skey(el0)) = intruder
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—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)
-- check if the predicate is true
red inv040(s,el10) implies istep100(k)
close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq (prO(skey(e10)) = intruder) = false
eq prO(skey(e20)) = intruder

-— successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)
-- check if the predicate is true

red inv050(s,e20) implies istep100(k)
--red istep100(k)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq (prO(skey(e10)) = intruder) = false
eq (prO(skey(e20)) = intruder) = false
-— successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)
-- check if the predicate is true

red istep100(k)

close

-- 11.2) not c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

eq c¢-fkm31(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep100(k)

close

== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
--> 12) fkm32(s,p10,q10,m10,e10,n20,k20,k30) —-

-- 12.1) ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)

open ISTEP
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arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op
op

m10 : -> Mnonce

el0 : -> Cipher2

n20 : -> lNonce

k20 : -> Skey .

k30 : -> Key .

assumptions

eq ¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
e10 \in cci3a(nw(s)) = true
n20 \in cnonce(nw(s)) = true
pro(k20) = intruder

k30 \in ckey(nw(s)) = true

k = k30

successor state

s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
check if the predicate is true

red istep100(k)
close

open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op
op

m10 : -> Mnonce

el0 : -> Cipher2

n20 : -> lNonce

k20 : -> Skey .

k30 : -> Key .

assumptions

eq ¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
e10 \in cci3a(nw(s)) = true
n20 \in cnonce(nw(s)) = true
pro(k20) = intruder

k30 \in ckey(nw(s)) = true

(k = k30) = false

(pr0(skey(e10)) = intruder) = false
successor state

s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
check if the predicate is true

red istep100(k)
close

open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op
op

m10 : -> Mnonce

el0 : -> Cipher2

n20 : -> lNonce

k20 : -> Skey .

k30 : -> Key .

assumptions

eq ¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
e10 \in cci3a(nw(s)) = true
n20 \in cnonce(nw(s)) = true
pro(k20) = intruder

k30 \in ckey(nw(s)) = true

(k = k30) = false

prO(skey(e10)) = intruder

successor state

s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
check if the predicate is true

85



red inv040(s,el10) implies istep100(k)
close

-- 12.2) not ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = false
—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 13) fkm33(s,p10,q10,m10,e20,n10,k10,k30) —-

-- 13.1) ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq k = k30

—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red istep100(k)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true
eq n10 \in cnonce(nw(s)) = true
eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq (k = k30) = false
eq (prO(skey(e20)) = intruder) = false
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—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red istep100(k)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true
eq n10 \in cnonce(nw(s)) = true
eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq (k = k30) = false

eq prO(skey(e20)) = intruder

—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red inv050(s,e20) implies istep100(k)

close

-- 13.2) not ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false
—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 14) fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) --

-- 14.1) c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder
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eq k30 \in ckey(nw(s)) = true

eq k = k30

—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
-- check if the predicate is true

red istep100(k)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = true
eq n10 \in cnonce(nw(s)) = true
eq n20 \in cnonce(nw(s)) = true
eq prO(k10) = intruder

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

eq (k = k30) = false

—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
-- check if the predicate is true

red istep100(k)

close

-- 14.2) not c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = false
—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 15) fkm41(s,p10,q10,m10,e10) --

-- 15.1) c¢-fkm41(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
eq €10 \in cci4(nw(s)) = true

eq (prO(skey(el0)) = intruder) = false

—- successor state
eq s’ = fkm41(s,pl10,q10,m10,e10)
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-- check if the predicate is true
red istep100(k)
close

open ISTEP
-- arbitrary objects
ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
eq €10 \in cci4(nw(s)) = true

eq prO(skey(el0)) = intruder

—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true
red inv060(s,el10) implies istep100(k)
close

-- 15.2) not c-fkm41(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

eq c-fkm41(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep100(k)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 16) fkm42(s,p10,q10,m10,n10,k10,k30) --

-- 16.1) c-fkm42(s,p10,q10,m10,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm42(s,p10,q10,m10,n10,k10,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq (k = k30) = false

—- successor state

eq s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
-- check if the predicate is true

red istep100(k)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal
op m10 : -> Mnonce
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eq

nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions

eq c-fkm42(s,p10,q10,m10,n10,k10,k30) = true
n10 \in cnonce(nw(s)) = true

pro(k10) = intruder

k30 \in ckey(nw(s)) = true

k = k30

successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep100(k)
close

16.2) not c-fkm42(s,p10,910,m10,n10,k10,k30)

open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op

eq

eq

m10 : -> Mnonce

nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions
c-fkm42(s,p10,9q10,m10,n10,k10,k30) = false
successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep100(k)
close
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== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
-- 1) Base case

open INV
red inv040(init,e31)
close

-- II) Inductive case

== skokskoRsoR ok KRR KR oK K KK KR koK KoK K kK KR koK Ko K K sk K KR koK KKk K kK KRRk KKk Kok — =
--> 1) mes1(s,p10,q10,mv10,r10) --

-- 1.1) c-mes1(s,p10,q10,mv10,r10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

-- eq c-mes1(s,pl10,q10,mv10,r10) = true
eq mv10 \in um(s) = false

eq r10 \in uv(s) = false

—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predicate is true

red istep040(e31)

close

-- 1.2) not c-mes1(s,pl10,q10,mv10,r10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

eq c-mesl(s,pl0,q10,mv10,r10) = false
—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predivate is true

red istep040(e31)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 2) mes2(s,q10,r10,mes10) --

-- 2.1) c-mes2(s,q10,r10,mes10)

open ISTEP

-- arbitrary object

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

op nwl0 : -> Network .
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-- assumptions

-- eq c-mes2(s,ql0,r10,mes10) = true
eq nw(s) = mesl0 , nwiO .

eq m1?(mes10) = true

eq reciverl(mes10) = q10 .

eq r10 \in uv(s) = false

—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep040(e31)

close

-- 2.2) not c-mes2(s,ql10,r10,mes10)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

-- assumptions

eq c—mes2(s,ql0,r10,mes10) = false
—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep040(e31)

close

—=> kR kR kR kok ko kR ok Rk ok ok Rk ok Rk kR Rk Rk Rk kR ok ——
--> 3) mes3(s,mes10,pkl10) --

-- 3.1) c-mes(s,mes10,pk10)

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true

eq nw(s) = mesl0 , nwiO .

eq m2?7(mes10) = true

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false

eq (e31 = enc2(skey(idl(mes10)) ,nonce(ci2a(mes10)) ,key(id1l(mes10),id2(mes10),pk10))) = false
—- successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep040(e31)

close

open ISTEP

-- arbitrary objects
op mesl0 : -> Msg .

op pk10 : -> Pubkey .
op nwl0 : -> Network .
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-- assumptions

-- eq c-mes3(s,mes10,pk10) = true .

eq nw(s) = mesl0 , nwiO .

eq m27(mes10) = true .

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false .

eq e31 = enc2(skey(idl(mes10)),nonce(ci2a(mes10)),key(id1(mes10),id2(mes10),pk10))
eq idi(mes10) = intruder

—- successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep040(e31)

close

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true .

eq nw(s) = mesl0 , nwiO .

eq m27(mes10) = true .

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false .

eq e31 = enc2(skey(idl(mes10)) ,nonce(ci2almes10)),key(idl(mes10),id2(mes10),pk10))
eq (id1(mes10) = intruder) = false

-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep040(e31)

close

-- 3.2) not c-mes3(s,mesl10,pkl0)
open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

-- assumptions

eq c-mes3(s,mes10,pkl10) = false .
-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true
red istep040(e31)
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close

=D kR R AR R KKK AR KK KKK KKK KK KK KK KK KKK R KKK KK KRRk KRk = —
--> 4) mes4(s,q10,mes10,mes20,mes30) --
-- 4.1) c-mes4(s,q10,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))
-— successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true

red istep040(e31)

close

-- 4.2) not c-mes4(s,ql0,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

-- assumptions

eq c—mes4(s,q10,mes10,mes20,mes30) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 5) fkm11(s,p10,q10,m10,e10) --

-- 5.1) c-fkm11(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

--eq c¢-fkm11(s,p10,q10,m10,e10) = true
eq €10 \in ccil(nw(s)) = true
—- successor state
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eq s’ = fkml11(s,p10,q10,m10,e10)
-- check if the predicate is true
red istep040(e31)

close

-- 5.2) not c-fkm11(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

eq c-fkm11(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 6) fkm12(s,p10,q10,m10,n10,k10) --

-- 6.1) c-fkm12(s,p10,q10,m10,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm12(s,p10,q10,m10,n10,k10) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep040(e31)

close

-- 6.2) not c-fkm12(s,p10,q10,m10,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm12(s,p10,q10,m10,n10,k10) = false
—- successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 7) fkm21(s,p10,q10,m10,e10,e20) --

-- 7.1) ¢-fkm21(s,p10,q10,m10,e10,e20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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ops €10 e20 : -> Cipherl

-- assumptions

-- eq c-fkm21(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci2a(nw(s)) = true

eq €20 \in cci2b(nw(s)) = true

—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep040(e31)

close

-- 7.2) not c-fkm21(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

eq c¢-fkm21(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 8) fkm22(s,p10,q10,m10,e10,n20,k20) --

-- 8.1) c-fkm22(s,p10,q10,m10,e10,n20,k20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

-- eq c-fkm22(s,p10,q10,m10,e10,n20,k20) = true
eq €10 \in cci2a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep040(e31)

close

-- 8.2) not c-fkm22(s,p10,q10,m10,e10,n20,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

eq c¢-fkm22(s,p10,q10,m10,e10,n20,k20) = false
—- successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep040(e31)

close
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== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 9) fkm23(s,p10,q10,m10,e20,n10,k10) --

-- 9.1) c-fkm23(s,p10,q10,m10,e20,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm23(s,p10,q10,m10,e20,n10,k10) = true
eq €20 \in cci2b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep040(e31)

close

-- 9.2) not c-fkm23(s,p10,q10,m10,e20,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm23(s,p10,q10,m10,e20,n10,k10) = false
—- successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 10) fkm24(s,p10,q10,m10,n10,n20,k10,k20) —-

-- 10.1) ¢c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

-- eq c-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)

-- check if the predicate is true

red istep040(e31)

close

-- 10.2) not c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP
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-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

eq c¢-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = false
—- successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)
-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 11) fkm31(s,p10,q10,m10,e10,e20) --

-- 11.1) ¢c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq (e31 = e10) = false

—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep040(e31)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq e31 = el0 .

-— successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)
-- check if the predicate is true
red istep040(e31)

close

-- 11.2) not c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

eq c¢-fkm31(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep040(e31)
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close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 12) fkm32(s,p10,q10,m10,e10,n20,k20,k30) —-

-- 12.1) ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
eq €10 \in cci3a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

eq (e31 = e10) = false

—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
-- check if the predicate is true

red istep040(e31)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
eq €10 \in cci3a(nw(s)) = true
eq n20 \in cnonce(nw(s)) = true
eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

eq e31 = el0 .

—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
-- check if the predicate is true

red istep040(e31)

close

-- 12.2) not ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = false
—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
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-- check if the predicate is true
red istep040(e31)
close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 13) fkm33(s,p10,q10,m10,e20,n10,k10,k30) --
-- 13.1) ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)

-- check if the predicate is true

red istep040(e31)

close

-- 13.2) not ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false
—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 14) fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) --

-- 14.1) c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true
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—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
-- check if the predicate is true

red istep040(e31)

close

-- 14.2) not c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = false
—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)

-- check if the predicate is true

red istep040(e31)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 15) fkm41(s,p10,q10,m10,e10) --

-- 15.1) c¢-fkm41(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
eq €10 \in cci4(nw(s)) = true

—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep040(e31)

close

-- 15.2) not c-fkm41(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

eq c-fkm41(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep040(e31)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 16) fkm42(s,p10,q10,m10,n10,k10,k30) -~

-- 16.1) c-fkm42(s,p10,q10,m10,n10,k10,k30)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions

eq c-fkm42(s,p10,q10,m10,n10,k10,k30) = true
n10 \in cnonce(nw(s)) = true

pro(k10) = intruder

k30 \in ckey(nw(s)) = true

successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep040(e31)
close

16.2) not c-fkm42(s,p10,910,m10,n10,k10,k30)

open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op

eq

eq

m10 : -> Mnonce

nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions
c-fkm42(s,p10,9q10,m10,n10,k10,k30) = false
successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep040(e31)
close
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0 OE 0O020000

== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
-- 1) Base case

open INV
red inv050(init,e32)
close

-- II) Inductive case

== skokskoRsoR ok KRR KR oK K KK KR koK KoK K kK KR koK Ko K K sk K KR koK KKk K kK KRRk KKk Kok — =
--> 1) mes1(s,p10,q10,mv10,r10) --

-- 1.1) c-mes1(s,p10,q10,mv10,r10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

-- eq c-mes1(s,pl10,q10,mv10,r10) = true
eq mv10 \in um(s) = false

eq r10 \in uv(s) = false

—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predicate is true

red istep050(e32)

close

-- 1.2) not c-mes1(s,pl10,q10,mv10,r10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

eq c-mesl(s,pl0,q10,mv10,r10) = false
—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predivate is true

red istep050(e32)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 2) mes2(s,q10,r10,mes10) --

-- 2.1) c-mes2(s,q10,r10,mes10)

open ISTEP

-- arbitrary object

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

op nwl0 : -> Network .
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-- assumptions

-- eq c-mes2(s,ql0,r10,mes10) = true
eq nw(s) = mesl0 , nwiO .

eq m1?(mes10) = true

eq reciverl(mes10) = q10 .

eq r10 \in uv(s) = false

—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep050(e32)

close

-- 2.2) not c-mes2(s,ql10,r10,mes10)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

-- assumptions

eq c—mes2(s,ql0,r10,mes10) = false
—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep050(e32)

close

—=> kR kR kR kok ko kR ok Rk ok ok Rk ok Rk kR Rk Rk Rk kR ok ——
--> 3) mes3(s,mes10,pkl10) --

-- 3.1) c-mes(s,mes10,pk10)

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true

eq nw(s) = mesl0 , nwiO .

eq m2?7(mes10) = true

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false

eq (e32 = enc2(skey(id2(mes10)) ,nonce(ci2b(mes10)) ,key(id1l(mes10),id2(mes10),pk10))) = false
—- successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep050(e32)

close

open ISTEP

-- arbitrary objects
op mesl0 : -> Msg .

op pk10 : -> Pubkey .
op nwl0 : -> Network .
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-- assumptions

-- eq c-mes3(s,mes10,pk10) = true .

eq nw(s) = mesl0 , nwiO .

eq m27(mes10) = true .

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false .

eq e32 = enc2(skey(id2(mes10)),nonce(ci2b(mes10)),key(id1l(mes10),id2(mes10),pk10))
eq id2(mes10) = intruder

—- successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep050(e32)

close

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true .

eq nw(s) = mesl0 , nwiO .

eq m27(mes10) = true .

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false .

eq e32 = enc2(skey(id2(mes10)) ,nonce(ci2b(mes10)) ,key(id1(mes10),id2(mes10),pk10))
eq (id2(mes10) = intruder) = false

-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep050(e32)

close

-- 3.2) not c-mes3(s,mesl10,pkl0)
open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

-- assumptions

eq c-mes3(s,mes10,pkl10) = false .
-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true
red istep050(e32)
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close

=D kR R AR R KKK AR KK KKK KKK KK KK KK KK KKK R KKK KK KRRk KRk = —
--> 4) mes4(s,q10,mes10,mes20,mes30) --
-- 4.1) c-mes4(s,q10,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))
-— successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true

red istep050(e32)

close

-- 4.2) not c-mes4(s,ql0,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

-- assumptions

eq c—mes4(s,q10,mes10,mes20,mes30) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 5) fkm11(s,p10,q10,m10,e10) --

-- 5.1) c-fkm11(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

--eq c¢-fkm11(s,p10,q10,m10,e10) = true
eq €10 \in ccil(nw(s)) = true
—- successor state
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eq s’ = fkml11(s,p10,q10,m10,e10)
-- check if the predicate is true
red istep050(e32)

close

-- 5.2) not c-fkm11(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

eq c-fkm11(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 6) fkm12(s,p10,q10,m10,n10,k10) --

-- 6.1) c-fkm12(s,p10,q10,m10,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm12(s,p10,q10,m10,n10,k10) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep050(e32)

close

-- 6.2) not c-fkm12(s,p10,q10,m10,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm12(s,p10,q10,m10,n10,k10) = false
—- successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 7) fkm21(s,p10,q10,m10,e10,e20) --

-- 7.1) ¢-fkm21(s,p10,q10,m10,e10,e20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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ops €10 e20 : -> Cipherl

-- assumptions

-- eq c-fkm21(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci2a(nw(s)) = true

eq €20 \in cci2b(nw(s)) = true

—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep050(e32)

close

-- 7.2) not c-fkm21(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

eq c¢-fkm21(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 8) fkm22(s,p10,q10,m10,e10,n20,k20) --

-- 8.1) c-fkm22(s,p10,q10,m10,e10,n20,k20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

-- eq c-fkm22(s,p10,q10,m10,e10,n20,k20) = true
eq €10 \in cci2a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep050(e32)

close

-- 8.2) not c-fkm22(s,p10,q10,m10,e10,n20,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

eq c¢-fkm22(s,p10,q10,m10,e10,n20,k20) = false
—- successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep050(e32)

close
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== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 9) fkm23(s,p10,q10,m10,e20,n10,k10) --

-- 9.1) c-fkm23(s,p10,q10,m10,e20,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm23(s,p10,q10,m10,e20,n10,k10) = true
eq €20 \in cci2b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep050(e32)

close

-- 9.2) not c-fkm23(s,p10,q10,m10,e20,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm23(s,p10,q10,m10,e20,n10,k10) = false
—- successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 10) fkm24(s,p10,q10,m10,n10,n20,k10,k20) —-

-- 10.1) ¢c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

-- eq c-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)

-- check if the predicate is true

red istep050(e32)

close

-- 10.2) not c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP
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-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

eq c¢-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = false
—- successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)
-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 11) fkm31(s,p10,q10,m10,e10,e20) --

-- 11.1) ¢c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq (e32 = e20) = false

—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep050(e32)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

eq e32 = e20 .

-— successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)
-- check if the predicate is true
red istep050(e32)

close

-- 11.2) not c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

eq c¢-fkm31(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep050(e32)
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close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 12) fkm32(s,p10,q10,m10,e10,n20,k20,k30) —--
-- 12.1) ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
eq €10 \in cci3a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)

-- check if the predicate is true

red istep050(e32)

close

-- 12.2) not ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = false
—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 13) fkm33(s,p10,q10,m10,e20,n10,k10,k30) —-

-- 13.1) ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq (e32 = e20) = false
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—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red istep050(e32)

close

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true
eq n10 \in cnonce(nw(s)) = true
eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

eq e32 = e20 .

—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red istep050(e32)

close

-- 13.2) not ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false
—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 14) fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) --

-- 14.1) c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true
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—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
-- check if the predicate is true

red istep050(e32)

close

-- 14.2) not c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = false
—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)

-- check if the predicate is true

red istep050(e32)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 15) fkm41(s,p10,q10,m10,e10) --

-- 15.1) c¢-fkm41(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
eq €10 \in cci4(nw(s)) = true

—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep050(e32)

close

-- 15.2) not c-fkm41(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

eq c-fkm41(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep050(e32)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 16) fkm42(s,p10,q10,m10,n10,k10,k30) -~

-- 16.1) c-fkm42(s,p10,q10,m10,n10,k10,k30)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions

eq c-fkm42(s,p10,q10,m10,n10,k10,k30) = true
n10 \in cnonce(nw(s)) = true

pro(k10) = intruder

k30 \in ckey(nw(s)) = true

successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep050(e32)
close

16.2) not c-fkm42(s,p10,910,m10,n10,k10,k30)

open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op

eq

eq

m10 : -> Mnonce

nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions
c-fkm42(s,p10,9q10,m10,n10,k10,k30) = false
successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep050(e32)
close
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O OF 0OO0O30000

== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
-- 1) Base case

open INV
red inv060(init,ed)
close

-- II) Inductive case

== skokskoRsoR ok KRR KR oK K KK KR koK KoK K kK KR koK Ko K K sk K KR koK KKk K kK KRRk KKk Kok — =
--> 1) mes1(s,p10,q10,mv10,r10) --

-- 1.1) c-mes1(s,p10,q10,mv10,r10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

-- eq c-mes1(s,pl10,q10,mv10,r10) = true
eq mv10 \in um(s) = false

eq r10 \in uv(s) = false

—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predicate is true

red istep060(ed)

close

-- 1.2) not c-mes1(s,pl10,q10,mv10,r10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op mviO : -> Mvalue

op r10 : -> livalue

-- assumptions

eq c-mesl(s,pl0,q10,mv10,r10) = false
—- successor state

eq s’ = mesl(s,p10,q10,mv10,r10)

-- check if the predivate is true

red istep060(ed)

close

==> skokakskokokokok ok ok kokok ok skok stk ok koo ko sk ok ksl ok stk ok ks ki sk sk ok skok ok ko o ks ok ks skok ok ok ko ki sk ok sk skok ok ok ok ok ok kok ok ——
--> 2) mes2(s,q10,r10,mes10) --

-- 2.1) c-mes2(s,q10,r10,mes10)

open ISTEP

-- arbitrary object

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

op nwl0 : -> Network .
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-- assumptions

-- eq c-mes2(s,ql0,r10,mes10) = true
eq nw(s) = mesl0 , nwiO .

eq m1?(mes10) = true

eq reciveri(mes10) = q10

eq r10 \in uv(s) = false

—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep060(ed)

close

-- 2.2) not c-mes2(s,ql10,r10,mes10)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

op r10 : -> livalue

op mesl0 : -> Msg .

-- assumptions

eq c—mes2(s,ql0,r10,mes10) = false
—- successor state

eq s’ = mes2(s,ql0,r10,mes10)

-- check if the predicate is true
red istep060(ed)

close

—=> kR kR kR kok ko kR ok Rk ok ok Rk ok Rk kR Rk Rk Rk kR ok ——
--> 3) mes3(s,mes10,pkl10) --

-- 3.1) c-mes(s,mes10,pk10)

open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes3(s,mes10,pk10) = true

eq nw(s) = mesl0 , nwiO .

eq m2?7(mes10) = true

eq reciver2(mesi0) = ca .

eq prO(skey(ci2a(mes10))) = id1(mes10)
eq prO(skey(ci2b(mes10))) = id2(mes10)
eq mnonce(mes10) = mnonce(ci2a(mes10))
eq mnonce(mes10) = mnonce(ci2b(mes10))
eq mnonce(ci2a(mes10)) = mnonce(ci2b(mes10))
eq p(ci2a(mes10)) = idi(mes10)

eq q(ci2a(mes10)) = id2(mes10)

eq p(ci2b(mes10)) = idi(mes10)

eq q(ci2b(mes10)) = id2(mes10)

eq pk10 \in sk(s) = false

-— successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true

red istep060(ed)

close

-- 3.2) not c-mes3(s,mesl10,pkl0)
open ISTEP

-- arbitrary objects

op mesl0 : -> Msg .

op pk10 : -> Pubkey .

-- assumptions

eq c-mes3(s,mes10,pkl10) = false
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—- successor state

eq s’ = mes3(s,mes10,pkl0)

-- check if the predicate is true
red istep060(ed)

close

=D kR R AR R KKK AR KK KKK KKK KK KK KK KK KKK R KKK KK KRRk KRk = —
--> 4) mes4(s,q10,mes10,mes20,mes30) --

-- 4.1) c-mes4(s,q10,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))

eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq (e4 = ci3a(mes30)) = false

—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true
red istep060(ed)

close

open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .
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eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq e4 = ci3a(mes30)

eq prO(skey(ci3a(mes30))) = intruder
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)
-- check if the predicate is true
red istep060(ed)

close

open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

op nwl0 : -> Network .

-- assumptions

-- eq c-mes4(s,ql0,mes10,mes20,mes30) = true
eq nw(s) = mes10 , mes20 , mes30 , nwiO
eq m1?(mes10) = true

eq m27(mes20) = true

eq m37(mes30) = true .

eq reciveri(mes10) = q10

eq senderl(mes20) = ql10 .

eq reciver2(mes20) = ca .

eq prO(skey(ci2b(mes20))) = q10

eq mnonce(mes10) = mnonce(mes20)

eq mnonce(mes20) = mnonce(ci2b(mes20))
eq id2(mes20) = q10 .

eq p(ci2b(mes20)) = idi(mes20)

eq q(ci2b(mes20)) = id2(mes20)

eq sender2(mes30) = ca .

eq reciveri(mes30) = q10

eq prO(skey(ci3b(mes30))) = q10

eq mnonce(mes30) = mnonce(mes20)

eq nonce(ci3b(mes30)) = nonce(ci2b(mes20))

eq e4 = ci3a(mes30)

eq (pro(skey(ci3a(mes30))) = intruder) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep060(ed)

close

-- 4.2) not c-mes4(s,ql0,mes10,mes20,mes30)
open ISTEP

-- arbitrary objects

op q10 : -> Principal

ops mes10 mes20 mes30 : -> Msg .

-- assumptions

eq c—mes4(s,q10,mes10,mes20,mes30) = false
—- successor state

eq s’ = mes4(s,ql0,mes10,mes20,mes30)

-- check if the predicate is true

red istep060(ed)

close

== okkokok ok ok kok ok okok ok okokok ok ook ok ok okok ki okok sk ko ok sk sk sk ki sk ko ok sk sk ki ki sk ko ok ok sk k ok kb ok ok ko ——
--> 5) fkm11(s,p10,q10,m10,e10) --
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-- 5.1) c-fkm11(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

--eq c¢-fkm11(s,p10,q10,m10,e10) = true
eq €10 \in ccil(nw(s)) = true

—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep060(ed)

close

-- 5.2) not c-fkm11(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipherl
-- assumptions

eq c-fkm11(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkml11(s,p10,q10,m10,e10)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 6) fkm12(s,p10,q10,m10,n10,k10) --

-- 6.1) c-fkm12(s,p10,q10,m10,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm12(s,p10,q10,m10,n10,k10) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep060(ed)

close

-- 6.2) not c-fkm12(s,p10,q10,m10,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm12(s,p10,q10,m10,n10,k10) = false
—- successor state

eq s’ = fkm12(s,p10,q10,m10,n10,k10)

-- check if the predicate is true

red istep060(ed)

close
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== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 7) fkm21(s,p10,q10,m10,e10,e20) --

-- 7.1) ¢-fkm21(s,p10,q10,m10,e10,e20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

-- eq c-fkm21(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci2a(nw(s)) = true

eq €20 \in cci2b(nw(s)) = true

—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep060(ed)

close

-- 7.2) not c-fkm21(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipherl

-- assumptions

eq c¢-fkm21(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm21(s,pl10,q10,m10,e10,e20)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 8) fkm22(s,p10,q10,m10,e10,n20,k20) --

-- 8.1) c-fkm22(s,p10,q10,m10,e10,n20,k20)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl

op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

-- eq c-fkm22(s,p10,q10,m10,e10,n20,k20) = true
eq €10 \in cci2a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

-— successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep060(ed)

close

-- 8.2) not c-fkm22(s,p10,q10,m10,e10,n20,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipherl
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op n20 : -> Nonce

op k20 : -> Skey .

-- assumptions

eq c¢-fkm22(s,p10,q10,m10,e10,n20,k20) = false
—- successor state

eq s’ = fkm22(s,p10,q10,m10,e10,n20,k20)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 9) fkm23(s,p10,q10,m10,e20,n10,k10) --

-- 9.1) c-fkm23(s,p10,q10,m10,e20,n10,k10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

-- eq c-fkm23(s,p10,q10,m10,e20,n10,k10) = true
eq €20 \in cci2b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

-— successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep060(ed)

close

-- 9.2) not c-fkm23(s,p10,q10,m10,e20,n10,k10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipherl

op n10 : -> Nonce

op k10 : -> Skey .

-- assumptions

eq c¢-fkm23(s,p10,q10,m10,e20,n10,k10) = false
—- successor state

eq s’ = fkm23(s,p10,q10,m10,e20,n10,k10)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 10) fkm24(s,p10,q10,m10,n10,n20,k10,k20) —-

-- 10.1) ¢c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

-- eq c-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder
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eq pr0(k20) = intruder

—- successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)
-- check if the predicate is true

red istep060(ed)

close

-- 10.2) not c-fkm24(s,p10,q10,m10,n10,n20,k10,k20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

-- assumptions

eq c¢-fkm24(s,p10,q10,m10,n10,n20,k10,k20) = false
—- successor state

eq s’ = fkm24(s,p10,q10,m10,n10,n20,k10,k20)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 11) fkm31(s,p10,q10,m10,e10,e20) --

-- 11.1) ¢c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

-- eq c-fkm31(s,p10,q10,m10,e10,e20) = true
eq €10 \in cci3a(nw(s)) = true

eq €20 \in cci3b(nw(s)) = true

—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep060(ed)

close

-- 11.2) not c-fkm31(s,p10,q10,m10,e10,e20)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops €10 e20 : -> Cipher2

-- assumptions

eq c¢-fkm31(s,p10,q10,m10,e10,e20) = false
—- successor state

eq s’ = fkm31(s,p10,q10,m10,e10,e20)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 12) fkm32(s,p10,q10,m10,e10,n20,k20,k30) —--

-- 12.1) ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal
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op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = true
eq €10 \in cci3a(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)
-- check if the predicate is true

red istep060(ed)

close

-- 12.2) not ¢c-fkm32(s,p10,q10,m10,e10,n20,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €10 : -> Cipher2

op n20 : -> Nonce

op k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm32(s,p10,q10,m10,e10,n20,k20,k30) = false
—- successor state

eq s’ = fkm32(s,p10,q10,m10,e10,n20,k20,k30)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 13) fkm33(s,p10,q10,m10,e20,n10,k10,k30) --
-- 13.1) ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = true
eq €20 \in cci3b(nw(s)) = true

eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)

-- check if the predicate is true

red istep060(ed)

close

-- 13.2) not ¢c-fkm33(s,p10,q10,m10,e20,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
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op €20 : -> Cipher2

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm33(s,p10,q10,m10,e20,n10,k10,k30) = false
—- successor state

eq s’ = fkm33(s,p10,q10,m10,e20,n10,k10,k30)
-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 14) fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) --
-- 14.1) c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq n20 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq pr0(k20) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)

-- check if the predicate is true

red istep060(ed)

close

-- 14.2) not c-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

ops n10 n20 : -> Honce

ops k10 k20 : -> Skey .

op k30 : -> Key .

-- assumptions

eq c¢-fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30) = false
—- successor state

eq s’ = fkm34(s,p10,q10,m10,n10,n20,k10,k20,k30)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 15) fkm41(s,p10,q10,m10,e10) --

-- 15.1) c¢-fkm41(s,p10,q10,m10,e10)

open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
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eq €10 \in cci4(nw(s)) = true

eq (e4 = e10) = false

—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)
-- check if the predicate is true
red istep060(ed)

close

open ISTEP
-- arbitrary objects
ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

-- eq c-fkm41(s,p10,q10,m10,e10) = true
eq €10 \in cci4(nw(s)) = true

eq e4 = el0

—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)
-- check if the predicate is true
red istep060(ed)

close

-- 15.2) not c-fkm41(s,p10,q10,m10,e10)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce
op €10 : -> Cipher2
-- assumptions

eq c-fkm41(s,p10,q10,m10,e10) = false
—- successor state

eq s’ = fkm41(s,pl10,q10,m10,e10)

-- check if the predicate is true

red istep060(ed)

close

== skckakskok ok ok koo koK koK sk ok ok Kok koK sk sk o Kok K koK sk ok sk o o Kok K kK sk sk ok ok ko kK koK sk kR Rk kK ——
--> 16) fkm42(s,p10,q10,m10,n10,k10,k30) -~

-- 16.1) c-fkm42(s,p10,q10,m10,n10,k10,k30)
open ISTEP

-- arbitrary objects

ops pl0 q10 : -> Principal

op m10 : -> Mnonce

op n10 : -> Nonce

op k10 : -> Skey .

op k30 : -> Key .

-- assumptions

-- eq c-fkm42(s,p10,q10,m10,n10,k10,k30) = true
eq n10 \in cnonce(nw(s)) = true

eq prO(k10) = intruder

eq k30 \in ckey(nw(s)) = true

-— successor state

eq s’ = fkm42(s,p10,q10,m10,n10,k10,k30)

-- check if the predicate is true

red istep060(ed)

close

-- 16.2) not c-fkm42(s,p10,q10,m10,n10,k10,k30)

125



open ISTEP

arbitrary objects

ops pl0 q10 : -> Principal

op
op
op
op

eq

eq

m10 : -> Mnonce

nl0 : -> Nonce

k10 : -> Skey .

k30 : -> Key .

assumptions
c-fkm42(s,p10,9q10,m10,n10,k10,k30) = false
successor state

s’ = fkm42(s,p10,q10,m10,n10,k10,k30)
check if the predicate is true

red istep060(ed)
close
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